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1. When a train stops suddenly, passengers in the 

running train feel an instant jerk in the forward 

direction  

 because  

 (1) The back of seat suddenly pushes the  

 passengers forward 

 (2) Inertia of rest stops the train and takes the  

 body forward 

 (3) Upper part of the body continues to be in the 

 state of motion whereas the lower part of the 

 body in contact with seat remains at rest 

 (4) Nothing can be said due to insufficient data 

2. Inertia is that property of a body by virtue of which 

the body is    

 (1) Unable to change by itself the state of rest 

 (2) Unable to change by itself the state of uniform 

 motion 

 (3) Unable to change by itself the direction of 

 motion 

 (4) Unable to change by itself the state of rest and 

 of uniform linear motion 

3. A boy sitting on the topmost berth in the 

compartment of a train which is just going to stop on 

a railway station, drops an apple aiming at the open 

hand of his brother sitting vertically below his hands 

at a distance of about 2 meter. The apple will fall 

 (1) Precisely on the hand of his brother 

 (2) Slightly away from the hand of his brother in 

 the direction of motion of the train 

 (3) Slightly away from the hand of his brother in 

 the direction opposite to the direction of 

 motion of the train 

 (4) None of the above 

 

1. tc pyrh gqbZ jsyxkM+h ;dk;d #d tkrh gS rc 

;k=h vkxs dh fn’kk esa ,d vkdfLed >Vdk eglwl 

djrs gSaA bldk dkj.k gS 

 (1) ;k=h dh lhV dk fiNyk Hkkx mls vkxs >Vdk 

 nsrk gS  

 (2) tM+Ro ds dkj.k jsyxkM+h #drh gS rFkk ;k=h dks 

 vius lkFk vkxs ys tkrh gS 

 (3) 'kjhj dk Åijh Hkkx xR;koLFkk esa jgrk gS tcfd 

 'kjhj dk lhV ls lEidZ okyk Hkkx fojke voLFkk 

 esa vk tkrk gS  

 (4) vi;kZIr vk¡dM+ks ds dkj.k dqN fuf’pr ugha dg 

 ldrs 

2. fdlh fi.M dk tMRo og xq.k gksrk gS, ftlds dkj.k 

oLrq 

 (1) viuh fojkekoLFkk esa ifjorZu dk fojks/k djrh gS 

 (2) viuh xR;koLFkk esa ifjorZu dk fojks/k djrh gS 

 (3) xfr dh fn’kk esa ifjorZu dk fojks/k djrh gS 

 (4) fojkekoLFkk rFkk ,dleku js[kh; xfr nksuksa dk 

 fojks/k djrh gS  

3. ,d yM+dk jsyxkM+h ds fMCcs dh Åijh cFkZ ij cSBk gS 

rFkk jsyxkM+h LVs’ku ij #dus okyh gSA blh le; 

Åijh cFkZ ij cSBk yM+dk 2 ehVj Å/okZ/kj uhps cSBs 

vius HkkbZ ds gkFkksa dh vksj ,d lso Qsadrk gSA lso 

fxjsxk  

 (1) Bhd mlds HkkbZ ds gkFkksa esa 

 (2) jsyxkM+h dh pyus dh fn’kk esa] mlds HkkbZ ds 

 gkFkksa ls dqN nwj 

 (3) jsyxkM+h ds pyus dh fn’kk ds foijhr esa] mlds 

 HkkbZ ds gkFkksa ls dqN nwj 

 (4) mijksä esa ls dksbZ ughass  
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4. A bird weighs 2 kg and is inside a closed cage of 1 

kg. If it starts flying, then what is the weight of the 

bird and cage assembly    

 (1) 1.5 kg  (2) 2.5 kg 

 (3) 3 kg  (4) 4 kg 

5. A particle is moving with a constant speed along a 

straight line path. A force is not required to  

 (1) Increase its speed  

 (2) Decrease the momentum 

 (3) Change the direction 

 (4) Keep it moving with uniform velocity 

6. A body of mass 2 kg moving on a horizontal surface 

with an initial velocity of 4 m/sec comes to rest after 

2 sec. If one wants to keep this body moving on the 

same surface with a velocity of 4 m/sec, the force 

required is  

 (1) 8 N   

 (2) 4 N 

 (3) Zero  

 (4) 2 N 

7. A body of mass 2 kg is hung on a spring balance 

mounted vertically in a lift. If the lift descends with 

an acceleration equal to the acceleration due to 

gravity ‘g’, the reading on the spring balance will be 

 (1) 2 kg 

 (2)  kgg)4(   

 (3) kgg)2(   

 (4)  Zero 

8. In doubling the mass and acceleration of the mass, the 

force acting on the mass with respect to the previous 

value 

 (1) Decreases to half  

 (2) Remains unchanged 

 (3) Increases two times  

 (4) Increases four times 

 

4. 2 fdxzk nzO;eku dk i{kh] 1 fdxzk nzO;eku ds can 

fiatjs ds vUnj gSA ;fn i{kh mM+uk izkjEHk dj ns rks 

bl fudk; dk Hkkj gksxk    

 (1) 1.5 fdxzk  (2) 2.5 fdxzk 

 (3) 3 fdxzk  (4) 4 fdxzk 

5. ,d d.k fu;r pky ls ,d ljy js[kh; ekxZ ij 

xfreku gSA cy dh vko’;drk ugha gksxh   

 (1) bldh pky c<+kus ds fy,  

 (2) laosx ?kVkus ds fy, 

 (3) fn’kk ifjofrZr djus ds fy,  

 (4) bls ,d leku osx ls pykus ds fy, 

6. 4 eh@lS osx ls {kSfrt lrg ij xfr'khy ,d 2 

fdxzk dk fi.M 2 lSd.M ds i'pkr~~ fLFkj gks tkrk gSA 

;fn bl fi.M dks mlh {kSfrt lrg ij 4 eh@lS ds 

osx ls xfreku cuk;s j[kus ds fy;s vko';d cy gS 

  

 (1) 8 U;wVu   

 (2) 4 U;wVu 

 (3) 'kwU;  

 (4) 2 U;wVu 

7. fy¶V esa Å/okZ/kj yVds ,d fLizax rqyk ij 2 fdxzk 

dk fi.M yVdk;k x;k gSA ;fn fy¶V uhps dh vksj 

xq#Ro tfur Roj.k g ls xfreku gks] rks fLizax rqyk dk 

ikB gksxk  

 (1) 2 fdxzk  

 (2) )4( g fdxzk 

 (3) )2( g fdxzk  

 (4) 'kwU; 

8. ;fn fdlh oLrq ds nzO;eku rFkk Roj.k dks nks xquk dj 

fn;k tk, rc oLrq ij yxus okys cy dk eku izkjafHkd 

eku ds lkis{k  

 (1) vk/kk jg tk,xk 

 (2) vifjofrZr jgsxk  

 (3) nksxquk gks tk,xk 

 (4) pkj xquk gks tk,xk  
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9. In the above question, the acceleration of the car 

will be  

 (1) 20.25m / sec  

 (2) 22.5m / sec  

 (3) 25.0m / sec  

 (4)  
20.025m / sec  

10. A person is standing in an elevator. In which 

situation he finds his weight less than actual when   

 (1) The elevator moves upward with constant 

 acceleration 

 (2) The elevator moves downward with constant 

 acceleration. 

 (3) The elevator moves upward with uniform 

 velocity 

 (4) The elevator moves downward with uniform 

 velocity  

11. A particle of mass 0.3 kg is subjected to a force 

kxF   with ./15 mNk   What will be its initial 

acceleration if it is released from a point 20 cm 

away from the origin  

 (1) 5 m/s2   (2) 10 m/s2
  

 (3) 3 m/s2   (4) 15 m/s2  

12. In a rocket of mass 1000 kg fuel is consumed at a 

rate of 40 kg/s. The velocity of the gases ejected 

from the rocket is sm /105 4 . The thrust on the 

rocket is  

 (1) N3102    (2) N4105   

 (3) 42 10 N   (4) N9102   

13. A man is standing on a weighing machine placed in 

a lift. When stationary his weight is recorded as 40 

kg. If the lift is accelerated upwards with an 

acceleration of 2/2 sm , then the weight recorded in 

the machine will be )/10( 2smg    

 (1) 32 kg  (2) 40 kg 

 (3) 42 kg  (4) 48 kg 

9. mijksä iz’u esa dkj dk Roj.k gksxk  

 (1) 20.25m / sec  

 (2) 22.5m / sec  

 (3) 25.0m / sec  

 (4)  
20.025m / sec  

10. ,d O;fDr ,d fy¶V esa [kM+k gSA fdl fLFkfr esa 

mldk Hkkj okLrfod Hkkj ls de gksxk tc    

 (1) fy¶V fu;r Roj.k ls Åij dh vksj xfr djrh 

 gS 

 (2) fy¶V fu;r Roj.k ls uhps dh vksj xfr djrh gS 

 (3) fy¶V ,d leku osx ls Åij dh vksj xfr 

 djrh gS 

 (4) fy¶V ,d leku osx ls uhps dh vksj xfr djrh 

 gS  

11. 0.3 fdxzk nzO;eku dh fdlh oLrq ij cy kxF   

dk;Zjr gS] tgk¡ mNk /15  gSA oLrq dk izkjafHkd 

Roj.k D;k gksxk] tc bls ewyfcUnq ls 20 lseh nwjLFk 

fcUnq ls NksM+k tkrk gS  

 (1) 5 m/s2   (2) 10 m/s2
  

 (3) 3 m/s2   (4) 15 m/s2  

12.  1000 fdxzk nzO;eku okys jkWdsV esa bZ/ku dh [kir 40 

fdxzk izfr lSd.M dh nj ls gks jgh gSA jkWdsV ls 
4105  eh@lS ds osx ls xSl fu"dkflr gks jgh gSA 

jkWdsV ij iz.kksn dk eku gksxk 

 (1) N3102    (2) N4105   

 (3) 42 10 N   (4) N9102   

13. ,d fy¶V esa j[kh Hkkjekih rqyk ij ,d O;fä [kM+k 

gSA fLFkj voLFkk esa mldk Hkkj 40 fdxzk vafdr gksrk 

gSA ;fn fy¶V Åij dh vksj 2 eh@lS 2 ds Roj.k ls 

mBuk vkjEHk dj ns] rks rqyk esa vafdr Hkkj dk eku 

gksxk (g 10 eh@ls 2) 

 (1) 32 kg  (2) 40 kg 

 (3) 42 kg  (4) 48 kg 
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14. When we jump out of a boat standing in water it 

moves 

 (1) Forward  

 (2) Backward 

 (3) Sideways 

 (4) None of these 

15. A man is standing on a balance and his weight is 

measured. If he takes a step in the left side, then 

weight  

 (1) Will decrease 

 (2) Will increase 

 (3) Remains same 

 (4) First decreases then increases 

16. When a body is stationary    

 (1) There is no force acting on it 

 (2) The force acting on it is not in contact with it 

 (3) The combination of forces acting on it 

 balances each other 

 (4) The body is in vacuum 

17. Two forces of magnitude F have a resultant of the 

same magnitude F. The angle between the two 

forces is 

 (1) 45°   

 (2) 120° 

 (3) 150°   

 (4) 60° 

18. The resultant force of 5 N and 10 N can not be 

 (1) 12 N  

 (2) 8 N 

 (3) 4 N   

 (4) 5 N 

14. 'kkar ty esa [kM+h ,d uko ls tc dksbZ O;fä fdukjs 

ij dwnrk gS rc uko  

 (1) vkxs pyrh gS  

 (2) ihNs pyrh gS 

 (3) vU; fn’kk esa foLFkkfir gksrh gS  

 (4) mijksä esa ls dksbZ ugha 

15. ,d O;fä rqyk ij [kM+s gksdj vius Hkkj dk ekiu 

djrk gSA ;fn og ck;ha vksj ,d dne pyrk gS] rc 

 (1) Hkkj ?kVsxk 

 (2) Hkkj c<s+xk 

 (3) Hkkj leku jgsxk 

 (4) igys ?kVsxk fQj c<+sxk 

16. tc dksbZ oLrq fLFkj gksrh gS rc   

 (1) ml ij dksbZ cy dk;Z ugha djrk 

 (2) oLrq ij yxus okys cy mls Li’kZ ugha djrs 

 (3) oLrq ij yxus okys cy ,d-nwljs dks larqfyr 

 dj ysrs gSa 

 (4) oLrq fuokZr esa gksrh gS 

17. F  ifjek.k ds nks cyksa ds ifj.kkeh dk ifjek.k F  gSA 

nksuksa cyksa ds chp dks.k gS 

 (1) 45°   

 (2) 120° 

 (3) 150°   

 (4) 60° 

18. 5 N  rFkk 10 N dk ifj.kkeh cy ugha gks ldrk gS 

 (1) 12 N  

 (2) 8 N 

 (3) 4 N   

 (4) 5 N 
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19. Consider the following statements about the blocks 

shown in the diagram that are being pushed by a 

constant force on a frictionless table 

    

 A. All blocks move with the same acceleration 

 B. The net force on each block is the same 

 Which of these statements are/is correct 

 (1) A only  (2) B only 

 (3) Both A and B (4) Neither A nor B 

 

20. A block is kept on a frictionless inclined surface 

with angle of inclination ''. The incline is given an 

acceleration 'a' to keep the block stationary. Then a 

is equal to   

 

 (1) g    

 (2) g tan   

 (3) g / tan   

 (4) g cosec   

21. A rope of length L is pulled by a constant force F. 

What is the tension in the rope at a distance x from 

the end where the force is applied  

 (1) 
x

FL   

 (2) 
L

xLF )(   

 (3) 
xL

FL


  

 (4) 
xL

Fx

  

 

 

19. fp=kuqlkj] ?k"kZ.kghu Vsfcy ij fLFkr xqVdksa dks ,d 

fLFkj cy F ls /kdsyk tk jgk gSA xqVdksa ls lEcfU/kr 

fuEu dFkuksa ij fopkj djsa 

    

A. lHkh xqVds ,d gh Roj.k ls xfreku gksaxs 

B. çR;sd xqVds ij dqy cy leku gksxk 

 dkSulk dFku lgh gS    

 (1) dsoy A   (2) dsoy B  

 (3) A rFkk B nksuksa (4) u rks A u B 

20. ,d xqVdk ,d ?k"kZ.kjfgr urlery] ftldk >qdko 

dks.k '' gS] ij j[kk gSA ur ry dks {kSfrtr% bl 

izdkj Roj.k 'a' fn;k tkrk gS] ftlls xqVdk fLFkj jgsA 

rc a dk eku gS   

 

 (1) g    

(2) g tan   

 (3) g / tan   

 (4) g cosec   

21. L  yEckbZ dh ,d jLlh dks fu;r cy F  }kjk [khapk 

tk jgk gSA cy yxkus okys fcUnq ls x  nwjh ij jLlh 

ruko dk eku gksxk   

 (1) 
x

FL   

 (2) 
L

xLF )(   

 (3) 
xL

FL


  

 (4) 
xL

Fx

  
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22. Three equal weights A, B and C of mass 2 kg each 

are hanging on a string passing over a fixed 

frictionless pulley as shown in the figure The 

tension in the string connecting weights 

B and C is  

 (1) Zero  

 (2) 13 N 

 (3) 3.3 N  

 (4) 19.6 N 

23. Three solids of masses 21,mm  and 3m  are connected 

with weightless string in succession and are placed 

on a frictionless table. If the mass 3m  is dragged 

with a force T, the tension in the string between 2m  

and 3m  is 

 (1) T
mmm

m

321

2

  

 (2) T
mmm

m

321

3


 

 (3) T
mmm

mm

321

21




 

 (4) T
mmm

mm

321

32




 

24. Three blocks of masses 21,mm  and 3m  are 

connected by massless strings as shown on a 

frictionless table. They are pulled with a force 

NT 403  . If kgmkgm 6,10 21   and kgm 43  , the 

tension 2T  will be  

  

  (1) 20 N  

 (2) 40 N 

 (3) 10 N  

 (4) 32 N 

 

22. 2 fdxzk nzO;eku ds rhu leku fi.M BA,  o C  ,d 

fLFkj ?k"kZ.kghu f?kjuh ls gksdj tkus okyh Mksjh ls c¡/ks 

gSaA fi.M B vkSj C  dks tksM+us okyh Mksjh esa ruko 

gksxk  

 (1) Zero  

 (2) 13 N 

 (3) 3.3 N  

 (4) 19.6 N 

23. 21 , mm  o 3m  nzO;eku ds rhu fi.M Øekxr #i ls 

Hkkj jfgr Mksjh ls tqMs+ gSa vkSj ,d ?k"kZ.k jfgr est ij 

j[ks gSaA ;fn 3m  dks T  cy ls [khapk tk,] rks 2m  o 

3m  ds chp Mksjh esa ruko gS 

 (1) T
mmm

m

321

2

  

 (2) T
mmm

m

321

3


 

 (3) T
mmm

mm

321

21




 

 (4) T
mmm

mm

321

32




 

24. 21 ,mm  rFkk 3m  nzO;eku ds rhu fi.M fp=kuqlkj 

Hkkjghu jLlh ls ck¡/kdj ?k"kZ.kghu est ij j[ks gSaA 

mUgsa 403 T  U;wVu ds cy ls [khapk tk jgk gSA ;fn 

101 m  fdxzk] 62 m  fdxzk rFkk 43 m  fdxzk gks] 

rks 2T  dk eku gksxk   

 

  (1) 20 N 

 (2) 40 N 

 (3) 10 N 

 (4) 32 N 
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25. A block of mass 1m  rests on a horizontal table. A 

string tied to the block is passed on a frictionless 

pulley fixed at the end of the table and to the other 

end of string is hung another block of mass 2m . The 

acceleration of the system is  

 (1) 
)( 21

2

mm

gm

   

 (2) 
)( 21

1

mm

gm


 

 (3) g   

 (4) 
1

2

m

gm
 

26. Two masses 1m  and 2m  are attached to a string 

which passes over a frictionless smooth pulley. 

When ,101 kgm   ,62 kgm  the acceleration of 

masses is    

 

 (1) 20 2/ sm   

 (2) 2/5 sm  

 (3) 2.5 2/ sm   

 (4) 2/10 sm  

27. A body of weight 2kg is suspended as shown in the 

figure. The tension 1T  in the horizontal string (in kg 

wt) is 

 

 (1) 3/2   (2) 2/3  

 (3) 32   (4) 2  

25. ,d nzO;eku ,1m  {kSfrt ry ij j[kk gS rFkk blls 

ck¡/kh xbZ Mksjh Vsfcy ds fljs ij yxh ?k"kZ.kghu f?kjuh 

ls gksdj uhps yVd jgh gS ftlds nwljs fljs ij 2m  

nzO;eku yVd jgk gSA fudk; dk Roj.k gksxk  

 (1) 
)( 21

2

mm

gm

   

 (2) 
)( 21

1

mm

gm


 

 (3) g   

 (4) 
1

2

m

gm
 

26. Hkkjghu ,oa ?k"kZ.k jfgr f?kjuh ls xqtjrh gqbZ Mksjh ds 

fljksa ij 1m  o 2m  æO;eku yVdk, x;s gSaA tc 

,101 kgm   ,oa  kgm 62   gS] rks æO;ekuksa dk Roj.k gS 

 

 (1) 20 2/ sm   

 (2) 2/5 sm  

 (3) 2.5 2/ sm   

 (4) 2/10 sm  

27. 2 kg Hkkj dh ,d oLrq dks fp=kuqlkj yVdk;k x;k 

gSA {kSfrt Mksjh esa ruko 1T  ¼fdxzk  Hkkj½ gS  

 

 (1) 3/2   (2) 2/3  

 (3) 32   (4) 2  
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28. A block of mass 4 kg is suspended through two light 

spring balances A and B. Then A and B will read 

respectively  

 (1) 4 kg and zero kg 

 (2) Zero kg and 4 kg 

 (3) 4 kg and 4 kg 

 (4) 2 kg and 2 kg 

29. The coefficient of friction   and the angle of 

friction   are related as 

 (1) sin      

 (2) cos    

 (3) tan     

 (4) tan    

30. A force of 98 N is required to just start moving a 

body of mass 100 kg over ice. The coefficient of 

static friction is 

 (1) 0.6   

 (2) 0.4 

 (3) 0.2   

 (4) 0.1 

31. In the figure shown, a block of weight 10 N resting 

on a horizontal surface. The coefficient of static 

friction between the block and the surface 4.0s . 

A force of 3.5 N will keep the block in uniform 

motion, once it has been set in motion. A horizontal 

force of 3 N is applied to the block, then the block 

will     

 

 (1) Move over the surface with constant velocity 

 (2) Move having accelerated motion over the 

 surface 

 (3) Not move  

 (4) First it will move with a constant velocity for 

 some time and then will have accelerated 

 motion 

28. ,d kg4  nzO;eku ds xqVds dks nks gYdh fLizax 

rqykvksa A  o B  ls yVdk;k x;k gS] rks A  o B  ds 

ikB~;kad Øe'k% gksaxs 

 (1) 4 kg and zero kg 

 (2) Zero kg and 4 kg 

 (3) 4 kg and 4 kg 

 (4) 2 kg and 2 kg 

29. ?k"kZ.k xq.kkad   rFkk ?k"kZ.k dks.k   esa fuEu lEcU/k 

gksrk gS 

 (1) sin      

 (2) cos    

 (3) tan     

 (4) tan    

30. 98 U;wVu dk cy cQZ ij j[ks 100 fdxzk ds æO;eku 

dks Bhd xfr'khy djus gsrq vko’;d gSA LFkSfrd ?k"kZ.k 

xq.kkad dk eku gksxk 

 (1) 0.6   

 (2) 0.4 

 (3) 0.2   

 (4) 0.1 

31. fp= esa çnf'kZr 10 U;wVu Hkkj dk ,d xqVdk {kSfrt 

lrg ij j[kk gSA lrg rFkk xqVds ds chp LFkSfrd 

?k"kZ.k xq.kkad s  dk eku 0.4 gSA ,d ckj xfreku 

gksus ds i’pkr~ bls 3.5 U;wVu ds cy }kjk ,d leku 

xR;koLFkk esa cuk;s j[kk tkrk gSA bl xqVds ij ;fn 

3 U;wVu dk {kSfrt cy yxk;k tk;s, rks ;g 

   

  (1) {kSfrt lrg ij fu;r osx ls xfr djsxk 

 (2) {kSfrt lrg ij Rofjr xfr djsxk 

 (3) dksbZ xfr ughaa djsxk 

 (4) igys dqN le; fu;r osx ls rFkk fQj Rofjr 

 xfr djsxk 
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32. Two masses A and B of 10 kg and 5 kg respectively 

are connected with a string passing over a 

frictionless pulley fixed at the corner of a table as 

shown. The coefficient of static friction of A with 

table is 0.2. The minimum mass of C that may be 

placed on A to prevent it from moving is  

 

  

 (1) 15 kg  (2) 10 kg 

 (3) 5 kg  (4) 12 kg 

33. The limiting friction is  

 (1) Always greater than the dynamic friction 

 (2) Always less than the dynamic friction 

 (3) Equal to the dynamic friction 

 (4) Sometimes greater and sometimes less than 

 the dynamic friction 

34. A block of mass 2 kg is kept on the floor.  The 

coefficient of static friction is 0.4.  If a force F of 2.5 

Newtons is applied on the block as shown in the 

figure, the frictional force between the block and the 

floor will be    

 
 (1) 2.5 N   (2) 5 N 

 (3) 7.84 N  (4) 10 N 

35. A horizontal force of 10 N is necessary to just hold a 

block stationary against a wall. The coefficient of 

friction between the block and the wall is 0.2.  the 

weight of the block is 

 
 (1) 2 N   (2) 20 N 

 (3) 50 N  (4) 100 N 

32. 10 fdxzk o 5 fdxzk ds nks æO;eku ,d Mksjh }kjk 

ijLij tqM+s gSa, tks fd ,d ?k"kZ.kghu f?kjuh ¼est ds 

dksus ij fLFkj½ ls gksdj tkrh gS, tSlk fd fp= esa 

çnf'kZr gSA A rFkk est ds chp LFkSfrd ?k"kZ.k xq.kkad 

0.2 gSA xqVds A ij ,d fdrus U;wure eku ds 

æO;eku C dks j[kk tk,, ftlls xqVdk A xfr u dj  
lds   

 

 
 (1) 15 kg  (2) 10 kg 

 (3) 5 kg  (4) 12 kg 

33. lhekar ?k"kZ.k 

 (1) ges’kk xfrt ?k"kZ.k ls vf/kd gksrk gS 

 (2) ges’kk xfrt ?k"kZ.k ls de gksrk gS 

 (3) xfrt ?k"kZ.k ds cjkcj gksrk gS 

 (4) xfrt ?k"kZ.k ls dHkh vf/kd o dHkh de gksrk gS  

34. 2 kg æO;eku dk ,d xqVdk {kSfrt ry ij j[kk gSA 

LFkSfrd ?k"kZ.k xq.kkad 0.4 gSA ;fn N5.2  dk ,d cy 
F  fp=kuqlkj xqVds ij yxk;k tk, rks ry o xqVds 
ds e/; ?k"kZ.k cy gksxk  

 
 (1) 2.5 N   (2) 5 N 

 (3) 7.84 N  (4) 10 N 

35. fdlh nhokj ds fo#) ,d xqVds dks fLFkj cuk;s j[kus 
ds fy, 10 N ds {kSfrt cy dh vko';drk gksrh gSA 

;fn nhokj o xqVds ds e/; ?k"kZ.k xq.kkad 0.2 gks rks 
xqVds dk Hkkj gksxk 

 

 (1) 2 N   (2) 20 N 

 (3) 50 N  (4) 100 N 
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36. A block of mass kgM 5  is resting on a rough 

horizontal surface for which the coefficient of 

friction is 0.2. When a force NF 40  is applied, the 

acceleration of the block will be )/10( 2smg   

   

 (1) 25.73 m / sec   

 (2) 28.0 m / sec s  

 (3) 23.17 m / sec  

 (4) 210.0 m / sec  

37. When a body is lying on a rough inclined plane and 

does not move, the force of friction 

 (1) is equal to R   

 (2) is less than R  

 (3) is greater than R  

 (4) is equal to R 

38. Starting from rest, a body slides down a 45° inclined 

plane in twice the time it takes to slide down the 

same distance in the absence of friction. The 

coefficient of friction between the body and the 

inclined plane is   

 (1) 0.33  (2) 0.25 

 (3) 0.75  (4) 0.80 

39. The coefficient of friction between a body and the 

surface of an inclined plane at 45° is 0.5. If 

2/8.9 smg  , the acceleration of the body 

downwards in 2/ sm  is 

 (1) 
2

9.4
  (2) 29.4  

 (3) 26.19   (4) 4.9 

 

 

36. ,d [kqjnqjs {kSfrt ry ij kgM 5  æO;eku dk ,d 

xqVdk j[kk gSA xqVds ,oa ry ds chp ?k"kZ.k xq.kkad 

0.2 gSA ;fn bl ij NF 40  dk cy vkjksfir fd;k 

tk,, rks xqVds dk Roj.k gksxk )/10( 2secmg   

   

 (1) 25.73 m / sec   

 (2) 28.0 m / sec s  

 (3) 23.17 m / sec  

 (4) 210.0 m / sec  

37. tc dksbZ fi.M ?k"kZ.k ;qä ur lery ij fLFkj j[kk 

gS, rc ?k"kZ.k cy dk eku  

 (1) R  ds cjkcj gksrk gS  

 (2) R  ls de gksrk gS 

 (3) R  ls vf/kd gksrk gS  

 (4) R  ds rqY; gksrk gS 

38. fojke ls pydj ,d fi.M 45  >qdko okys ?k"kZ.k 

;qDr lery ij fQlyus esa, ?k"kZ.k dh vuqifLFkfr esa 

mlh nwjh dks fQlyus esa yxsa le; ls, nksxquk le; 

ysrk gSA fi.M o >qds gq;s urry ds chp ?k"kZ.k xq.kkad 

gS  

 (1) 0.33  (2) 0.25 

 (3) 0.75  (4) 0.80 

39. 45 dks.k okys ur lery ij fLFkr oLrq rFkk 

urry lrg ds e/; ?k"kZ.k xq.kkad dk eku 0.5 gSA 

;fn g 9.8 eh@lS 2 gks,  rc eh@lS 2 esa uhps dh vksj 

Roj.k dk eku gksxk 

 (1) 
2

9.4
  (2) 29.4  

 (3) 26.19   (4) 4.9 
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40. A box is placed on an inclined plane and has to be 

pushed down. The angle of inclination is   

 (1) Equal to angle of friction  

 (2) More than angle of friction 

 (3) Equal to angle of repose 

 (4) Less than angle of repose 

41. A body of mass 100 g is sliding from an inclined 

plane of inclination 30°. What is the frictional force 

experienced if 7.1     

 (1) N
3

1
27.1 

 

 (2) N
2

1
37.1   

 (3) N37.1    

 (4) N
3

1
27.1 

 

42. A body of mass 10 kg is lying on a rough plane 

inclined at an angle of 30o to the horizontal and the 

coefficient of friction is 0.5.  the minimum force 

required to pull the body up the plane is 

 (1)  914 N  

 (2)      91.4 N 

 (3)  9.14 N 

 (4)      0.914 N 

43. A block of mass 10 kg is placed on an inclined plane.  

When the angle of inclination is 30o, the block just 

begins to slide down the plane.  The force of static 

friction is  

 (1)   10 kg wt  

 (2)    89 kg w 

 (3)  49 kg wt 

 (4)    5 kg wt 

40. ,d oLrq ur lery ij j[kh gS rFkk bls uhps dh 

vksj /kdsyuk gS, ur lery dk dks.k gksxk 

  (1) ?k"kZ.k dks.k ds cjkcj 

 (2) ?k"kZ.k dks.k ls vf/kd 

 (3) fojke dks.k ds cjkcj 

 (4) fojke dks.k ls de 

41.. 100 xzke æO;eku dh ,d oLrq 30° >qdko dks.k okys 

ur lery ij fQly jgh gSA bl ij yxus okyk 

?k"kZ.k cy gksxk ;fn  7.1  

 (1) N
3

1
27.1 

 

 (2) N
2

1
37.1   

 (3) N37.1   

 (4) N
3

1
27.1 

 

42. fdlh [kqjnqjs ur lery dk {kSfrt ls >qdko dks.k o30  rFkk 

?k"kZ.k xq.kkad 0.5 gS, bl ij 10 kg æO;eku dh oLrq j[kh gSA 

ur lery ij Åij dh vksj oLrq dks ys tkus ds fy, 

vko';d U;wure cy gS 

 (1)  914 N  

 (2)      91.4 N 

 (3)  9.14 N 

 (4)      0.914 N 

43. 10 kg dk ,d xqVdk ur lery ij j[kk gSA tc 

>qdko dks.k  o30  gS, rks xqVdk uhps dh vksj 

fQlyuk çkjEHk dj nsrk gSA LFkSfrd ?k"kZ.k cy gS  

 (1)   10 kg wt  

 (2)    89 kg w 

 (3)  49 kg wt 

 (4)    5 kg wt 
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44. The upper half of an inclined plane of inclination  

is perfectly smooth while the lower half is rough.  A 

body starting from the rest at top comes back to rest 

at the bottom if the coefficient of friction for the 

lower half  is given by 

 (1)  = sin    

 (2)  = cot  

 (3)  = 2 cos   

 (4)  = 2 tan  

45. A block of mass m lying on a rough horizontal plane 

is acted upon by a horizontal force P and another 

force Q inclined at an angle   to the vertical. The 

block will remain in equilibrium, if the coefficient of 

friction between it and the surface is  

  

 (1) 
)cos(

)sin(




Qmg

QP




 

 (2) 
)sin(

)cos(




Qmg

QP


  

 (3) 
)sin(

)cos(




Qmg

QP




 

 (4) 
)cos(

)sin(




Qmg

QP


  

46. Which of the following is correct, when a person 

walks on a rough surface    

 (1) The frictional force exerted by the surface 

 keeps him moving  

 (2) The force which the man exerts on the floor 

 keeps him moving 

 (3) The reaction of the force which the man exerts 

 on floor keeps him moving 

 (4) None of the above 

44. >qdko dks.k  okys ur lery dk Åijh v/kZ Hkkx 

iw.kZr% fpduk gS, tcfd fupyk v/kZHkkx [kqjnjk gSA 

,d oLrq 'kh"kZ ls fojke voLFkk ls fQlyuk çkjEHk 

djrh gS vkSj fupys ry ij iqu% fojkekoLFkk esa vk 

tkrh gSA fupys v/kZHkkx dk ?k"kZ.k xq.kkad gksxk  

 (1)  = sin    

 (2)  = cot  

 (3)  = 2 cos   

 (4)  = 2 tan  

45. m æO;eku dk ,d xqVdk [kqjnjs {kSfrt ry ij j[kk 

gSA bl ij {kSfrt fn’kk esa P cy rFkk Å/okZ/kj ls   

fn’kk esa Q cy vkjksfir fd;k x;k gSA ;fn xqVdk 

larqyu dh voLFkk esa gks, rks xqVds o i"̀B ds e/; 

?k"kZ.k xq.kkad gksxk  

 

 (1) 
)cos(

)sin(




Qmg

QP




 

 (2) 
)sin(

)cos(




Qmg

QP


  

 (3) 
)sin(

)cos(




Qmg

QP




 

 (4) 
)cos(

)sin(




Qmg

QP


  

46. tc ,d O;fä [kqjnjs i`"B ij pyrk gS, rks lR; 

dFku gS 

(1) i`"B }kjk O;fä ij vkjksfir ?k"kZ.k cy mls xfr’khy 

cuk;s j[krk gS 

(2) O;fä }kjk i`"B ij vkjksfir cy mls xfr’khy cuk;s 

j[krk gS 

(3) O;fä }kjk i`"B ij vkjksfir cy dk çfrfØ;k cy 

mls xfr’khy cuk;s j[krk gS 

(4) mijksä esa ls dksbZ ugha 
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47. A particle is in a straight line motion with uniform 

velocity. A force is not required –  

 (1) To increase the speed 

 (2) To decrease the speed 

 (3) To maintain the same speed 

 (4) To change the direction 

48. A body of 5 kg weight kept on a rough inclined plane of 

angle 30o starts sliding with a constant velocity.  Then 

the coefficient of friction is  (assume g = 10 m/s2) 

(1) 3/1   

(2) 3/2  

(3) 3  

(4) 32  

49. Essential characteristic of equilibrium is – 

 (1) Momentum equals zero 

 (2) Acceleration equals zero 

 (3) K.E. equals zero 

 (4) Velocity equals zero 

50. When a constant force is applied to a body, it moves 
with uniform – 

 (1) Acceleration 

 (2) Velocity 

 (3) Speed 

(4) Momentum 

47. ,d oLrq ljy js[kk esa ,d leku osx ls xfreku gSA 

cy dh vko';drk ugha gS –  

 (1) pky dks c<kus esa 

 (2) pky dks ?kVkus esa 

 (3) pky dks fu;r j[kus esa 

 (4) fn'kk ifjofrZr djus esa 

48. ,d  5 kg Hkkj dh oLrq o30  >qdko dks.k okys [kqjnjs ur lery 

ij fu;r osx ls fQlyuk çkjEHk djrh gS, rks ?k"kZ.k xq.kkad gksxk 

)/10( 2smg     

(1) 3/1   

(2) 3/2  

(3) 3  

(4) 32  

49. lkE;koLFkk dk vko';d xq.k gS – 

 (1) laosx dk eku 'kwU; gksrk gSA 

 (2) Roj.k 'kwU; gksrk gSA 

 (3) xfrt ÅtkZ 'kwU; gksrh gSA 

 (4) osx 'kwU; gksrk gSA  

50. tc fdlh oLrq ij fu;r cy yxk;k tkrk gS rks ;g 

,d leku-------------- xfr djsxh – 

 (1) Roj.k ls 

 (2) osx ls 

 (3) pky ls 

(4) laosx ls 
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101. Select the pseudocoelomates from the list of

organisms given below :-

(1) Ascaris, Fasciola, Taenia

(2) Culex, Locusta, Limulus

(3) Wuchereria, Ascaris, Ancylostoma

(4) Nereis, Hirudinaria, Wuchereria

102. Which of the following pairs of animals comprise

‘Combjellies’?

(1) Balanoglossus and Saccoglossus

(2) Pleurobranchia and Ctenoplana

(3) Sea anemone and sea pen

(4) Sea lily and brittle star

103. Which one of the following pairs of animals

comprise ‘Cartilaginous fishes’?

(1) Labeo and Catla

(2) Pterophyllum and Scoliodon

(3) Pristis and Carcharodon

(4) Petromyzon and Myxine

104. Which of the following fishes is also known as

“Great white shark’?

(1) Pristis

(2) Trygon

(3) Clarias

(4) Carcharodon

105. In which one of the following protochordates

notochord present only in the tail of larva?

(1) Ascidia

(2) Balanoglossus

(3) Myxine

(4) Branchiostoma

106. In which of the following group notochord present

in whole life?

(1) Hemichordata (2) Urochordata

(3) Cephalochordata (4) Vertebrata

101. fuEUkfyf[kr thoksa esa ls dwVxqgh; thoksa dk p;u djs &

(1) Ascaris, Fasciola, Taenia

(2) Culex, Locusta, Limulus

(3) Wuchereria, Ascaris, Ancylostoma

(4) Nereis, Hirudinaria, Wuchereria

102. fuEufyf[kr thoksa esa dkSu  ‘dadkytSyh’ dk lewg gS ?

(1) Balanoglossus rFkk Saccoglossus

(2) Pleurobranchia rFkk Ctenoplana

(3) leqnzh ,uheksu rFkk leqnzh fiPN

(4) Sea lily rFkk  Hkazxqj rkjk

103. fuEufyf[kr esa ls dkSu ls tho ‘mikfLFky eNyh’ dk
lewg gS?

(1) Labeo rFkk Catla

(2) Pterophyllum rFkk Scoliodon

(3) Pristis rFkk Carcharodon

(4) Petromyzon rFkk Myxine

104. fuEufyf[kr esa ls dkSu  “fo'kky lQsn 'kkdZ’ gS ?

(1) Pristis

(2) Trygon

(3) Clarias

(4) Carcharodon

105. fuEufyf[kr esa ls dkSUk ls protochordates esa i`"BjTtq
dsoy mldh ykokZ iqPN eas mifLFkr gksrh gS?

(1) Ascidia

(2) Balanoglossus

(3) Myxine

(4) Branchiostoma

106. fuEu esa ls fdl tho esa ì"BjTtq mlds iw.kZ thoudky
esa mifLFkr gksrh gS&

(1) Hemichordata (2) Urochordata

(3) Cephalochordata (4) Vertebrata

SECTION - A



(23)2nd Floor, Victory Chamber, Ratlam Kothi, Geeta bhawan Square, Indore - 7024860313

EXPERTISE IN BIOLOGY
By

Dr. Anas Qureshi Sir
(MBBS-Gold Medialist, MGMMC INDORE)

NUCLEUM NEET TEST_DRP_HIN -07

107. Match the column-I with the column-II and find

out the correct answer :

Column-I Colum-II

(1) Spongocoel (i) Arthropoda

(2) Dorso-ventrally (ii) Cnidaria

     flattened body

(3) Coelenteron  (iii) Porifera

     cavity

(4) Chitinous (vi) Platyhelminthes

     exoskeleton

(1) a-iii, b-iv, c-i, d-ii (2) a-iv, b-iii, c-ii, d-i

(3) a-iii, b-iv, c-ii, d-i (4) a-ii, b-iv, c-iii, d-i

108. Which of the following is a matching pair ?

(1) Ophiura - Sea lily

(2) Octopus - Cuttle fish

(3) Torpedo - Electric ray

(4) Aptenodytes - Ostrich

109. Which one is not the charater of Osteichthyes?

(1) Terminal mouth

(2) Gills with operculum

(3) Body covered by placoid scales

(4) Air bladder regulate buoyancy.

110. Which one of the following pairs is not correcly

matched?

(1) Choetopleura - Chiton

(2) Ascaris - Round worm

(3) Wuchereria - Filaria worm

(4) Enterobias - Hook worm

111. Which one of the following is a radially symmetrical,

blind sac body plan and diploblastic animal?

(1) Spongilla (2) Euspongia

(3) Asterias (4) Physalia

112. Which one is not a platyhelminthes?

(1) Tapeworm (2) Liver fluke

(3) Planaria (4) Hookworm

107. lgh feyku dhft,&

Column-I Column-II

(1) Liatxqgk (i) Arthropoda

(2) i`"Vk/kkj piVk (ii) Cnidaria

     'kjhj

(3) Coelenteron  (iii) Porifera

    xqgk

(4) dkbfVu ;qDr (vi) Platyhelminthes

     ckg~; dadky

(1) a-iii, b-iv, c-i, d-ii (2) a-iv, b-iii, c-ii, d-i

(3) a-iii, b-iv, c-ii, d-i (4) a-ii, b-iv, c-iii, d-i

108. lgh ;qXe dk p;u djsa ?

(1) Ophiura - leqnzh fyyh

(2) Octopus - dVy eNyh

(3) Torpedo - fo|qr vax

(4) Aptenodytes - 'kqrqjeqxZ

109. Osteichthyes gS?

¼,½ VfeZuy eqag

¼ch½ vksisjdqye ds lkFk xyQM+s

¼lh½ IysdksbM Ldsy ls <dk gqvk 'kjhj

¼Mh½ ok;q ew='k; mNky dks fu;af=r djrk gSA

110. fuEufyf[kr esa ls dkSu&lk ;qXe lgh lqesfyr ugha gS\

(1) Choetopleura - Chiton

(2) Ascaris - Round worm

(3) Wuchereria - Filaria worm

(4) Enterobias - Hook worm

111. fuEufyf[kr esa ls dkSu jsfM;y lefer] CykbaM lSd c‚Mh

Iyku vkSj fMIyksCykfLVd tkuoj gS\

(1) Spongilla (2) Euspongia

(3) Asterias (4) Physalia

112. dkSulk ,d IySfVgsfYeUFkl ugha gS\

(1) Tapeworm (2) Liver fluke

(3) Planaria (4) Hookworm
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113. Consider the following statements :-

(1) Protochordates are exclusively marine

(2) In cephalochordates, Notochord extends from

head to tail region .

(3) In urochordates, Notochord is present only in

larval tail.

(4) Cranium and vertebral column are bony in

cyclostomates.

Which of the above statement is/are correct?

(1) 1 alone (2) 2, 3 and 4

(3) 1, 2 and 3 (4) All of these

114. Identified the correct statement from the following

with reference to Amphibians :-

(1) They have internal fertilisation and development

is direct.

(2) Amphibian skin is moist and without scales

(3) Their body is divisible into head and trunk

(4) They have three chambered heart

Select the correct answer :-

(1) 1 and 4 (2) 1 and 2

(3) 2, 3 and 4 (4) 4 alone

115. Water vascular system is found in :-

(1) Porifera (2) Echinodermata

(3) Mollusca (4) Elasmobranch

116. In MOET, the animal is either mated with an elite

bull or artificially inseminated. The fertilized eggs

are collected to transfer to surrogate mothers. Which

among these statements is correct.

(1) Fertilized egg is collected at 8-32 cells stage

and no need of surgery.

(2) Fertilized egg is collected at 8-32 cells stage

and surgery is done for it.

(3) Fertilized egg is collected at only 4 cells stage

and it is done by surgery.

(4) Fertilized egg is collected at 64 cells stage and

surgery is done for it.

113. fuEufyf[kr dFkuksa ij fopkj dhft,:&

¼1½ çksVksd‚MsZV fo'ks"k :i ls leqæh gksrs gSa

¼2½ lsQyksdksMsZV~l esa] u‚Vksd‚MZ flj ls iwaN {ks= rd
QSyk gqvk gS

¼3½ ;wjksd‚MsZV~l esa] u‚Vksd‚MZ dsoy ykokZ iwaN esa ekStwn
gksrk gSA

¼4½ diky vkSj d'ks#d LraHk lkbDyksLVksesV~l esa cksuh
gksrs gSaA

mijksä esa ls dkSu lk dFku lgh gS/gSa\

(1) 1 alone (2) 2, 3 and 4

(3) 1, 2 and 3 (4) All of these

114. mHk;pjksa ds lanHkZ esa fuEufyf[kr esa ls lgh dFku dh
igpku dh&

¼1½ buesa vkarfjd fu"kspu gksrk gS vkSj fodkl çR;{k
gksrk gSA

¼2½ mHk;pj Ropk ue vkSj fcuk rjktw ds gksrh gS

¼3½ budk 'kjhj flj vkSj /kM+ esa foHkkftr gksrk gS

¼4½ budk ân; rhu d{kh; gksrk gS

lgh mÙkj dk p;u djsa :&

(1) 1 and 4 (2) 1 and 2

(3) 2, 3 and 4 (4) 4 alone

115. ty laogu ra= ik;k tkrk gS &

(1) Porifera (2) Echinodermata

(3) Mollusca (4) Elasmobranch

116. MOET, rduhd xkS i’kqvksa esa lq/kkj dk ,d dk;ZØe gS]
bl fof/k esa i’kq dks ;k rks loksZRd'“V lkaM ¼cSy½vFkok
d'f=e oh;Zlspu }kjk laxefur djk;k tkrk gSA fu"ksfpr
v.Mksa dks ,df=r djds vkuqokaf’kd ekrk esa igq¡pk;k
tkrk gSaA fuEufyf[kr esa ls dkSulk dFku lR; gS &

(1) fu"ksfpr v.Ms dks 8-32 dksf’kdk voLFkk esa ,d=
djrs gSa] blesa 'kY; fpfdRlk dh vko’;drk ugha gksrh
gSA

(2) fu"ksfpr v.Mksa dks 8-32 dksf’kdk voLFkk esa ,d=
djrs gSa] blesa 'kY; fpfdRlk dh vko’;drk gksrh gSaA

(3) fu"ksfpr v.Mksa dks 4 dksf’kdk voLFkk esa ,d= djrs
gSa] blds fy, 'kY; fpfdRlk dh vko’;drk gksrh gSA

(4) fu"ksfpr v.Mksa dks 64 dksf’kdk voLFkk rd ,d=
djrs gSa] vkSj blds fy, 'kY; fpfdRlk dh vko’;dkrk
gksrh gSaA
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117. Hybrid breed of sheep is?

(1) Sunandini (2) Holstein

(3) Brown swiss (4) Hisardale

118. Surrogate mother is used for?

(1) Artificial insemination

(2) Future mother with transplanted embryo

(3) Induction of lactation

(4) All of the above

119. MOET is method of?

(1) Fish cultivation (2) Cloning of sheep

(3) Hybridization in cattles

(4) Bee-keeping

120. Which of the following is/are marine water fishes?

(1) Mackerel (2) Pomfrets

(3) Sardines (4) All of the above

121. Which among the following is real product of honey

bee ?

(1) Honey (2) Propolis

(3) Beewax (4) Pollen

122. The best milch breed in the world is ?

(1) Sahiwal (2) Holstein Friesian

(3) Deoni (4) Sindhi

123. Pisciculture is rearing and production of:-

(1) Sheep (2) Birds

(3) Fishes (4) Honey bee

124. Which of the following is a fresh water fish?

(1) Catla (2) Mackerel

(3) Pomfrets (4) Hilsa

125. Queen bees are

(1) Sterile females (2) Fertile males

(3) Fertile females (4) Sterile males

126. What is the root of any breeding programme

(1) Mutation

(2) Green revolution

(3) Genetic variability

(4) Genetic similarity

117. HksM+ dh ladj czhM+ gS &

(1) Sunandini (2) Holstein

(3) Brown swiss (4) Hisardale

118. ljksxsV ekrk dks fdlds fy, mi;ksx esa fy;k tkrk gS
\

(1) d'f=e oh;Z lapu A

(2) Hkwz.k izR;kjksfir djus ds fy, Hkfo"; dh ekrk

(3) nqX/k mRiknu izsfjr djus ds fy,A

(4) mijksDr lHkhA

119. MOET rduhd fdlds fy, gS \

(1) eNyh mRiknuA (2) HksM+ DyksfuaxA

(3) pkSik;ksa esa ladj.k djkus ds fy,A

(4) e/kqeD[kh ikyuA

120. fuEu esa ls dkSu yo.kh; eNyh@eNfy;k¡ gS \

(1) Mackerel (2) Pomfrets

(3) Sardines (4) All of the above

121. fuEu esa ls dkSulk e/kqeD[kh dk okLrfod mRikn gS \

(1) 'kgn (2) izksiksfyl

(3) e/kqeDD[kh dk ekse (4) ijkx

122. fo’o esa lcls T;knk nw/k nsus okyh uLy gS \

(1) lkghoky (2) gksyLVhu&Qzhf’k;u

(3) Deoni (4) Sindhi

123. ikslhdYpj ds vUrxZr] fdldk ikyu vkSj mRiknu
fd;k tkrk gS \

(1) HksM+ (2) i{kh

(3) eNfy;k¡ (4) e/kqeD[kh

124. fuEu esa ls LoPN tyh; eNyh gS %&

(1) dVyk (2) eSdsjy

(3) ikeQzSV (4) fgylk

125. jkuh eD[kh gksrh gS

(1) cU/k; eknk (2) tu{ke uj

(3) tuu{ke eknk (4) cU/k; uj

126. fdlh Hkh iztuUk dk;ZØe dk eqyk/kkj D;k gS \

(1) mRifjorZu

(2) gfjr Økafr

(3) vkuqokaf’kd ifjorZu’khyrk

(4) vkuqokaf’kd lekurk
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127. Which tropical canes grown in south india had

thicker stems and high sugar content but did not

grow well in North India.

(1) Saccharum barberi

(2) Saccharum spontaneum

(3) Saccharum robustum

(4) Sacchrum officinarum

128. “Pusa Komal” variety of cow pea, which developed

by hybridisation and selection is mainly resistance

for

(1) Powdery mildew (2) Yellow mosaic virus

(3) Bacterial blight (4) White rust

129. In which crop resistance to yellow mosaic virus

were induced by mutation

(1) Mung bean (2) Cow pea

(3) Wheat (4) Brassica

130. Smooth leaved and nectar less cotton varieties do

not attract which one of following pests

(1) Aphids (2) Jassids

(3) Boll worms (4) Shoot borer

131. The main steps of plant breeding programmes is

given below

(1) Cross hybridisation among the selected parents

(2) Testing release and commericialisation of new

cultivars

(3) Collection of variability

(4) Selection and testing of superior recombinants

(E) Evalution and selection of parents

Arrange above steps in a systemetic way

(1) E C A B D (2) CEABD

(3) C E A D B (4) E C A D B

132. In fungi plant symbiotic association, the fungus

symbiont absorb which nutrient from soil and passes

it to the plants

(1) Nitrogen (2) Phosphorus

(3) Magnese (4) Calcium

133. Nobel laureate Norman E. Borlaug developed semi

dwarf variety of

(1) Wheat (2) Sugarcane

(3) Mustard (4) Chilli

127. dkSuls nf{k.k Hkkjr esa iSnk gksus okys m".kdfVca/kh; xUus
dk ruk eksVk Fkk rFkk blesa 'kdZjk va’k dgha vf/kd Fkk]
ijUrq ;g mÙkjh Hkkjr esa Bhd ls ugh iui ik;kA

(1) lSdsje ckjcjh

(2) lSdsje LiksUVsue

(3) lSdsje jkscLVe

(4) lSdsje vkWfQflusje

128. “iwlk dksey “ tks dh yksfc;k dh fdLe gS] tks ladj.k
rFkk p;u }kjk fodflr dh x;h gS] ;g eq[;r;k
fdlds fy, izfrjks/kh gSA

(1) pwf.kZy vkflrk (2) ihr ekstsd ok;jl

(3) thok.kqoh; vaxekjh (4) 'osr fdV~V

129. fdl Qly esa ihr ekstsd ok;jl ds izfr izfrjks/kd
{kerk mRifjorZu }kjk izsfjr FkhA

(1) ewax (2) yksfc;k

(3) xsg¡w (4) ljlksa

130. fpduh ifÙk;ksa okyh rFkk cSDVj foghu dikl dh fdLesa
fdl uk’khdhV dks viuh vkSj vkdf"kZr gksus ls jksdrh
gSA

(1) ,sfQM (2) tSflM

(3) ckWyoeZ (4) ruk Hksnd

131. ikni iztuu dk;ZØe ds eq[; in uhps fn, x, gSS&

(1) p;fur tudksa ds chp ladj.k

(2) u;s da"k.kksa dk ijh{k.k] fueqZDr rFkk O;kikjhdj.k

(3) ifjorZu’khyrk dk laxzg.k

(4) Js"B iqu;ksZxst dk p;u rFkk ijh{k.k

(E) tudksa dk ewY;kadu rFkk p;u

mijksDr inksa dks lqO;ofLFkr Øe esa tekb,&

(1) E C A B D (2) CEABD

(3) C E A D B (4) E C A D B

132. dod ikniksa ds lgthoh la;kstu esa dodh; lgthoh
e'nk lsa fdl iks"kd dk vo’kks"k.k dj mls ikniksa esa Hkst
nsrs gSaA

(1) ukbVªkstu (2) QkWLQksjl

(3) eSaxuht (4) dSYlh;e

133. ukscsy iqjLdkj iqjLd'r ukWjeSu bZ-ckjyksx us fdldh
v}Z&okeu fdLe dk fodkl fd;k

(1) xsg¡w (2) xUuk

(3) ljlksa (4) fepZ
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134. Which one of the following is an example of somatic

hybridisation

(1) Bt cotton (2) Pomato

(3) Golden rice (4) All of these

135. IARI, New Delhi has released several vegetables

crops that are rich in

(1) Vitamin (2) Hormone

(3) Minerals (4) A & C both

136. Which plant breeding step is very tedious and time

consuming

(1) Selection and testing of superior recombinants

(2) Cross hybridisation among the selected parents

(3) Collection of variability

(4) Evaluation and selection of parents

137. Which vegetable crop rich in vitamin C has released

by IARI. New Delhi

(1) Spinach (2) Lablab

(3) Mustard (4) Bathua

138. Ladybird is useful to get rid of

(1) Aphids (2) Mosquitos

(3) Boll worm (4) Jassids

139. You are a plant breader. Which trait or character

that you have firstly tried to incorporate into crop

plants

(1) Increase crop yield and improved quality

(2) Increase tolerance to environmental stresses

(3) Increase resistance to pathogens

(4) Increase tolerance to insect pests

140. How many percent of the population of India get

employes by agriculture

(1) 82 (2) 62

(3) 17 (4) 92

141. Mark incorrect about healthy person :-

(1) More efficient (2) High productivity

(3) Longevity of people

(4) Increases infant and maternal mortality

(1) (1) and (2) (2) only (4)

(3) (3) and (4) (4) All are correct

134. fuEu esa ls dkSulk ,d dkf;d ladj.k dk mnkgj.k gSa&

(1) Bt dikl (2) iksesVks

(3) xksYMu jkbl (4) mijksDr lHkh

135. IARI, u;h fnYyh esa cgqr lh lfCt;ksa dh Qlyksa dk
ekspu fd;k gSa] buesa izpqj ek=k esa feyrs gSA

(1) foVkfeu (2) gkWeksZu

(3) [kfut (4) A o B nksuksa

136. ikni iztuu dk dkSulk in dkQh dfBu rFkk vf/kd
le; ysus okyk gksrk gS &

(1) Js"B iqu;ksZxt dk p;u rFkk ijh{k.k

(2) p;fur tudksa ds chp esa ladj.k

(3) ifjorZZu’khyrk dk laxzg.k

(4) tudksa dk ewY;kadu rFkk p;u

137. IARI u;h fnYyh }kjk ekspu dh xbZ fdl lfCt;ksa dh
Qly esa foVkfeu  lh  izpqj ek=k esa gksrs gSaA

(1) ikyd (2) ycyc

(3) ljlksa (4) cFkqvk

138. ysMh cMZ fduls NqVdkjk fnyokus esa vR;ar gh ykHkizn
gSA

(1) ,fQM (2) ePNj

(3) ckWyokeZ (4) tSflM

139. vki ,d ikni iztud gSA fuEu esa ls fdl Yk{k.k vFkok
VsªV dks vki Qlyksa esa lekfo"V djus dh loZizFke
izkf;drk nsaxsA

(1) c<+s gq, Qlyh mRiknu rFkk mUur xq.kork

(2) i;kZoj.k ruko ds izfr lgu’khyrk

(3) jksxtudksa ds izfr izfrjks/kdrk

(4) ihM+dks ds izfr lgu’khyrk

140. Hkkjr ds lef"V dh yxHkx fdruh izfr’kr turk dks
jkstxkj d'f"k ls izkIr gksrk gSA

(1) 82 (2) 62

(3) 17 (4) 92

141. LoLFk O;fDr ds lanHkZ esa xyr gS %&

(1) vf/kd l{ke (2) mPp mRikndrk

(3) mPp vk;qdky

(4) f’k’kq o ekr̀ e`R;q nj esa o'f)

(1) (1) vkSj (2) (2) dsoy (4)

(3) (3) vkSj (4) (4) lHkh lgh gS

SECTION - B



(28)2nd Floor, Victory Chamber, Ratlam Kothi, Geeta bhawan Square, Indore - 7024860313

EXPERTISE IN BIOLOGY
By

Dr. Anas Qureshi Sir
(MBBS-Gold Medialist, MGMMC INDORE)

NUCLEUM NEET TEST_DRP_HIN -07

142. Mark the correct statement :-

(1) Yoga has been practised to achieve physical and

mental health

(2) Infectious diseases are very common and

everyone of us suffers from these at sometime or

other

(3) AIDS is an infectious disease

(4) Cancer is non-infectious disease

(e) Healthy persons bring economic prosperity

(1) a, b and c (2) b, c, d and e

(3) c and d (4) a, b, c, d and e

143. Skin and mucus coating form .......... barriers of

innate immunity :-

(1) Physiological (2) Physical

(3) Cellular (4) Cytokine

144. Mucosa is the lining of :-

(1) Respiratory tract (2) Urogenital tract

(3) GIT (4) All of these

145. Anamnestic response is ............ immune response

:-

(1) Primary (2) Secondary

(3) Booster (4) both (2) and (3)

146. Consider the following four statements (I-IV)

regarding kidney transplant and select the two

correct ones out of these.

I. Even if a kidney transplant is proper the

recipient may need to take immuno-

suppressants for a long time.

II. The cell-mediated immune response is

responsible for the graft rejection.

III. The B-lymphocytes are responsible for

rejection of the graft.

IV. The acceptance or rejecton of a kidney

transplant depends on specific interferons.

(1) II and III (2) III and IV

(3) I and III (4) I and II

142. lR; dFku Nk¡fV;s :-

(1) 'kkjhfjd o ekufld LokLF; ikus ds fy, vfr

izkphu dky ls ;ksx dk vH;kl fd;k tk jgk gS

(2) laØked jksx cgqr vke gSA vkSj ge lc dHkh uk

dHkh budk f’kdkj gq;s gS

(3) AIDS ,d laØked jksx gS

(4) dSalj ,d vlaØked jksx gS

(e) LoLFk O;fDr vkfFkZd fodkl ykrk gS

(1) a, b vkSj c (2) b, c, d vkSj e

(3) c vkSj d (4) a, b, c, d vkSj e

143. Ropk rFkk 'ys"ek vkysi izfrj{kk dk .......... cukrs gS :-

(1) dkf;Zdh; (2) 'kkjhfjd@HkkSfrd

(3) dksf’kdh; (4) lkbVksdkbu

144. 'ys"ek Lrj ik;k tkrk gS %&

(1) 'olu iFk esa (2) ew=tuuiFk esa

(3) tB’ka= esa (4) mijksDr lHkh esa

145. ,ukeusfLVd vuqfØ;k] ............ izfrj{kk vuqfØ;k gS :-

(1) izkFkfed (2) f}rh;d

(3) cwLVj (4) (2) vkSj (3) nksuksa

146. uhps fn;s x;s o'Dd izR;kjksi.k ds lanHkZ esa (I-IV) dFkuksa

dks if<+;s rFkk buesa ls 2 lgh dFkuksa dks Nk¡fV;sa\

I. ;fn o'Dd izR;kjksi.k lgh gS rks Hkh xzkgh dks yEcs

le;

izfrj{kh neudkj dh vko’;drk iM+rh gSA

II. dksf’kdk e/;LFk izfrj{kk vuqfØ;k] fujksi@xzk¶V

vLohd'fr gsrq mÙkjnk;h gSA

III. fujksi vLohd'fr gsrq B-yfldk.kq mÙkjnk;h gSA

IV. fujksi dh Lohd'fr@vLohd'fr] fof’k"V baVjQsjkWUl

ij fuHkZj djrh gSA

(1) II vkSj III (2) III vkSj IV

(3) I vkSj III (4) I vkSj II
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147. The letter T in T-lymphocyte refers to :-

(1) thyroid (2) thalamus

(3) tonsil (4) thymus

148. Use of anti-histamines and steroids give a quick

relief from :-

(1) allergy (2) nausea

(3) cough (4) headache

149. Which of the following is a pair of viral diseases?

(1) Ringworm, AIDS

(2) Common cold, AIDS

(3) Dysentery, common cold

(4) Typhoid, tuberculosis

150. To which type of barriers under innate immunity,

do the saliva in the mouth and the tears from the

eyes, belong?

(1) Cytokine (2) Cellular

(3) Physiological (4) Physical

151. Which is safe technique to detect cancer?

(1) Radiography

(2) CT (Computed tomography) Scanning

(3) MRI (Magnetic Resonance Imaging)

(4) Biopsy

152. Cancer detection is based on :-

(1) Biopsy

(2) Histopathological studies of tissue

(3) Blood test

(4) Bone marrow test

(1) a, b (2) a, c & d

(3) a, b & c (4) a, b, c & d

153. Plasmodium enters the human body as :-

(1) Female Anopheles mosquito(2) Sporozoite

(3) Trophozoite (4) Haemozoin

154. Toxin which is responsible for chill and high fever

during malaria :-

(1) Haematin (2) Haemoglobin

(3) Haemozoin (4) Heam

147. T-fyEQkslkbV esa ‘T’ fdls n’kkZrk gS :-

(1) FkkWbjkWbM (2) FkSysel

(3) VkWfUly (4) Fkkbel

148. fdlls rqjUr vkjke gsrq izfrfgLVkfeu rFkk LVhjkWbM~l
dk mi;ksx gksrk gS\

(1) ,ythZ (2) csgks’kh ¼ukWft;k½

(3) dQ (4) fljnnZ

149. dkSulk ;qXe fo"kk.kq&jksxksa dk gS\

(1) fjax oeZ, AIDS

(2) lkekU; tqdke, AIDS

(3) isfp’k, lkekU; tqdke

(4) VkWbQkbM, risfnd

150. lgt izfrj{kk ds fdl vojks/k@jks/k esa eq[k esa ykj rFkk
us=sa ds vk¡lqvksa dks 'kkfey fd;k x;k gS\

(1) lkbVksdkbu (2) dksf’kdh;

(3) dkf;Zdh;@dkf;Zdh (4) HkkSfrd@’kkjhfjd

151. dSalj tk¡p gsrq lqjf{kr rduhd gS\

(1) Radiography

(2) CT (Computed tomography) Scanning

(3) MRI (Magnetic Resonance Imaging)

(4) Biopsy

152. dSalj tk¡p vk/kkfjr gS :-

(1) tho~fr ijh{kk ij

(2) mÙkd fod'fr v/;;uksa ij

(3) jDr tk¡p ij

(4) vfLFk eTtk tk¡p ij

(1) a, b (2) a, c & d

(3) a, b & c (4) a, b, c & d

153. IykTeksfM;e ekuo 'kjhj esa fdl :i esa izos’k djrk gS
(1) eknk ,uksQsyht ePNj (2) LiksjksTkkWbV~l

(3) VªksQkstkWbV~l (4) ghekstksbu

154. vfo"kkyq inkFkZ tks fd eysfj;k ds le; fBBqju rFkk
mPp vkorhZ Toj gsrq mÙkjnk;h gksrk gS :-

(1) gheSfVu (2) gheksXyksfcu

(3) ghekstkbu (4) ghe

SECTION - A
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155. Incorrect about Entamoeba histolytica or amoebiasis

is :-

(1) Parasite of small intestine

(2) Causes dysentery

(3) Houseflies are mechanical carriers

(4) Symptoms include constipation, abdominal pain

and cramp

(1) a (2) c

(3) a, c (4) All are correct

156. C-onc are :-

(1) Cellular oncogenes (2) viral Oncogenes

(3) Proto-oncogenes (4) Both A and C

157. Haemophilus influenzae causes :-

(1) Typhoid (2) Plague

(3) Pneumonia (4) Influenza

158. Widal test is done for :-

(1) Typhoid (2) Typhoid Mary

(3) Mary Mallon (4) All of these

159. House flies are mechanical carriers of :-

(1) Amoebiasis (2) Malaria

(3) Common cold (4) Plague

160. The period between....... of age may be thought as

adolescence period

(1) 18-21 yrs. (2) 12-21 yrs.

(3) 12-18 yrs. (4) 18-25 yrs.

161. Which disorder is not related with smoking?

(1) Lung cancer

(2) Bronchitis

(3) Emphysema

(4) Coronary heart disease

(e) Gastric ulcer

(f) Urinary bladder cancer

(g) Throat cancer

(1) a, b, e, g (2) a, b, c, f, g

(3) c, d, f

(4) None of these (all are related)

155. ,aVvehck fgLVksykbfVdk vFkok vehfc,fll gsrq vlR;
gS :-

(1) NksVh vka= dk ijthoh

(2) vfrlkj mRiUu djrk gS

(3) ?kjsyw efD[k;k¡] 'kkjhfjd okgd

(4) dCt ¼dks"Bc)rk½] mnjh; ihM+k rFkk ,saBu bR;kfn
y{k.k

(1) a (2) c

(3) a, c (4) lHkh lgh gS

156. C-onc thu gS :-

(1) dksf’kdh; vcqZnthu (2) fo"kk.kqoh; vcqZnthu

(3) vkfn vcqZnthu (4) A vkSj C nksuksa

157. gheksfQyl ba¶yq,ath ls mRiUu jksx gS\

(1) VkbQkbM (2) Iysx

(3) U;weksfu;k (4) bU¶yq,atk

158. foMky ijh{k.k fdlds fy, fd;k tkrk gS\

(1) VkbQkbM (2) VkbQkbM eSjh

(3) eSjks eSyku (4) mijksDr lHkh

159. ?kjsyq efD[k;ka] fdl jksx dh 'kkjhfjd@;kaf=d okgd
gS\

(1) vehfc,fll (2) eysfj;k

(3) lkekU; tqdke (4) Iysx

160. ......... dh vk;q dh vof/k dks] fd’kksjkoLFkk ekuk tk
ldrk gSA

(1) 18-21 yrs. (2) 12-21 yrs.

(3) 12-18 yrs. (4) 18-25 yrs.

161. dkSulk fodkj@fod'fr] /kweziku ls lEcfU/kr ugha gS\

(1) Qq¶Qql dSalj (2) 'oluh 'kksFk

(3) okrLQhfr (4) ân; jksx

(e) tBj oz.k (f) ew=’k; dSalj

(g) xys dk dSalj

(1) a, b, e, g (2) a, b, c, f, g

(3) c, d, f

(4) buesa ls dksbZ ugha (lHkh lEcfU/kr gSa)
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162. Which measure would be particularly useful for

prevention and control of alcohol and drug abuse

among adolescents?

(1) Avoid undue peer pressure

(2) Seeking professional and medical help

(3) Looking for danger sign

(4) Education and counselling

(e) Seeping help from parents and peers

(1) a, b, d (2) a, c, d, e

(3) c, e (4) a, b, c, d, e

163. Coca alkaloid or cocaine is obtained from coca plant

Erythroxylum coca, native of :-

(1) South America (2) Africa

(3) Australia (4) China

164. Cocaine interferes with transport of :-

(1) GABA (2) Acetylcholine

(3) Dopamine (4) Glutamate

165. Nicotine :-

(1) stimulates adrenal gland

(2) an alkaloid

(3) is present in tobacco

(4) All of these

166. Algae reproduce by :

(1) Asexual (2) Sexual

(3) Vegetative (4) All the above

167. Stored food in Phaeophyceae is :

(1) Laminarin or manitol (2) Starch

(3) Cellulose (4) Algin

168. Asexual reproduction in maximum Brown Algae is

by:

(1) Biflagellated zoospore

(2) Single flagellated zoospore

(3) Aplanospore

(4) None of these

162. dkSulk mik; fd’kksjksa es ,sYdksgkWy rFkk Mªx ds dqiz;ksx
dh jksdFkke rFkk fu;a=.k esa fo’ks"k :i ls dkjxj fl)
gks ldrk gS\

(1) vko’;d led{kh ncko ls cpuk

(2) O;olkf;d ,oa fpfdRlk lgk;rk ysuk

(3) ladV ladsrksa dks ns[kuk

(4) f’k{kk ,oa ijke’kZ

(e) ekrk firk o ledf{k;ksa ls lgk;rk ysuk

(1) a, b, d (2) a, c, d, e

(3) c, e (4) a, b, c, d, e

163. dksdk ,sYdsykWbM@dksdsu dh izkfIr dksdk ikni]
bfjFkzkstkbye dksdk ls gksrk gS] tks ewyr% fdl ns’k dk
ikni gS\

(1) nf{k.kh vesfjdk (2) vÝhdk

(3) vkWLVªsfy;k (4) phu

164. dksdsu fdlds ifjogu esa ck/kk mRiUu djrk gS\

(1) GABA (2) ,sflVkbydksyhu

(3) Mksikekbu (4) XywVsesV

165. fudksVhu :-

(1) vf/ko'Dd xzafFk dks míhfir djrk gS

(2) ,d ,YdsykWbM gS

(3) rEckdw esa ik;k tkrk gS

(4) mijksDr lHkh

166. ,Yxh esa tuu gksrk gS

(1) vySafxd (2) ySafxd

(3) dkf;d (4) mijksDr lHkh

167. Qh;ksQkblh dk Hkkstu laxzg.k gksrk gS %&

(1) ysfeusfju ;k esfuVksy (2) LVkpZ

(3) lsY;wykst (4) ,Ythu

168. vf/kdrj Hkwjs 'kSoky esa vySfxd tuu gksrk gS %&

(1) f}d’kkfHkd py chtk.kq

(2) ,d d’kkfHkd py chtk.kq

(3) vpy chtk.kq

(4) buesa ls dksbZ ugh



(32)2nd Floor, Victory Chamber, Ratlam Kothi, Geeta bhawan Square, Indore - 7024860313

EXPERTISE IN BIOLOGY
By

Dr. Anas Qureshi Sir
(MBBS-Gold Medialist, MGMMC INDORE)

NUCLEUM NEET TEST_DRP_HIN -07

169. Major Pigments in Phaeophycae :

(1) Chlorophyll a (2) Chlorophyll c

(3) Fucoxanthin (4) All the above

170. Generally red Algae do not form :

(1) Zoospore

(2) Non -motile spore

(3) Non-motile gamete

(4) None of these

171. The main plant body of bryophyte is :

(1) Haploid (2) Diploid

(3) Haplo-diploid (4) Diplo-haploid

172. The plant body of liverworts is :

(1) Sporophyte (2) Thalloid

(3) With roots (4) Xerophytic

173. Vegetative reproduction in mosses is by :

(1) Fragementation (2) Budding

(3) Both (1) & (2) (4) By spore

174. Marchantia is the example of :

(1) Mosses (2) Liverworts

(3) Sphenopsida (4) Lycopsida

175. In Mosses creeping, green, branched and frequently

filamentous stage is called :

(1) Protonema (2) Rhizome

(3) Rhizophore (4) All of these

176. The leaves of Pteridophyta are :

(1) Microphylls (2) Macrophylls

(3) Both (1) & (2) (4) None of these

177. In majority of the Pteridophytes all the spores are

of similar kind such plants are called :

(1) Homosporous (2) Heterosporous

(3) Prothallus (4) Protonema

178. Which is the dominant phase of Pteridophytes :

(1) Gametophyte (2) Sporophyte

(3) Spores (4) Gametes

179. In Pteridophytes, sporophylls may form distinct

compact structure, called :

(1) Strobili or cones (2) Microphyll

(3) Macrophyll (4) Tropophyll

169. Qh;ksQkblh esa eq[; o.kZd gS %&

(1) DyksjksQhy a (2) DyksjksQhy c

(3) ¶;wdkstSfFku (4) mijksDr  lHkh

170. lkekU;r;k yky 'kSoky ugh cukrk gS %&

(1) py chtk.kq (2) vpy chtk.kq

(3) vpy ;qXed (4) buesa ls dksbZ ugh

171. czk;ksQkbV dh eq[; dk; gksrh gS %&

(1) vxqf.kr (2) f}xqf.kr

(3) vxqf.krd&f}xqf.krd (4) f}xqf.krd&vxqf.krd

172. fyojoVZ dk ikni dk; gksrk gS %&

(1) chtk.kqn~fHkn (2) FkSykHk

(3) tM+ ;qDr (4) e:n~fHknh;

173. ekWl eas dkf;d tuu gksrk gSA

(1) fo[k.Mu (2) eqdqyu

(3) nksuksa (1) o (2) (4) chtk.kq }kjk

174. fyojoVZ dk ikni dk; gksrk gS %&

(1) ekWal (2) fyojoVZ

(3) LQhuksIlhM+k (4) yk;dksIlhMk

175. ekWl esa folihZ] gjk] 'kkf[kr rFkk izk;% rUrqe; voLFkk
gksrh gS%&

(1) izksVksfuek (2) jkbtkse

(3) jkbtksQksj (4) mijksDr lHkh

176. VsfjMksQkbVk esa ifÙk;k gksrh gS %&

(1) y?kqo.kZ (2) o'gr i.kZ

(3) nksuks (1) o (2) (4) buesa ls dksbZ ugh

177. vf/kdka’k VsfjMksQkbV~l esa chtk.kq ,d gh izdkj ds gksrs
gS] mu iks/kks dks dgrs gSA

(1) lechtk.kqd (2) fo"kechtk.kqd

(3) izksFkSayl (4) izksVksfuek

178. VsfjMksQkbV~l dh izHkkoh voLFkk gS %&

(1) ;qXedksn~fHkn (2) chtk.kqn~fHkn

(3) chtk.kq (4) ;qXed

179. VsfjMkQkbV~l esa] chtk.kqi.kZ l?ku gksdj ,d lqLi"V
jpuk cukrs gS] dgykrh gS %&

(1) LVªksfcykbZ vkSj 'kadq (2) y?kqi.kZ

(3) o“gri.kZ (4) VªksiksfQy
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180. Pteridophytes are classified in to :

(1) Three classes (2) Two classes

(3) Four classes (4) Five classes

181. Gymnospermic plants are :

(1) Homosporous (2) Heterosporous

(3) Both (4) Without spores

182. The nucellus is protected by envelopes and the

composite structure is called :

(1) Megaspore (2) Microspore

(3) Ovule (4) Cone

183. In cycas specialised roots are associated with N2
fixing cyanobacteria, called :

(1) Tap root (2) Coralloid root

(3) Adventitious root (4) All the above

184. Gymnosperms include:

(1) Medium sized trees (2) Tall tree

(3) Shrubs (4) All the above

185. In Gymnosperms which is not found :

(1) Antheridia (2) Archegonia

(3) Both (4) None of these

186. Immune deficiency syndrome could develop due to–

(1) Enteric fever (2) Defective thymus

(3) AIDS virus (4) Defective bone

187. During injury mast cells secrete :-

(1) Histamine (2) Heparin

(3) Prothrombin (4) Antibodies

188. Agglutination occurs in blood present in a test tube.

This indicate:-

(1) Antibodies are present in plasma

(2) Antigens are present on R.B.C.

(3) Antigens are present in plasma

(4) Antibodies are present on R.B.C

189. Damage to thymus in a child may lead to  :-

(1) a reduction in haemoglobin content of blood

(2) a reduction in stem cell production

(3) loss of antibody mediated immunity

(4) loss of cell mediated immunity

180. VsfjMksQkbV~l dks foHkkftr fd;k tkrk gSA

(1) rhu oxkZs esa (2) nks oxksZ esa

(3) pkj oxkZs esa (4) ikWap oxkZs esa

181. ftEuksLieZ ikS/ks gS %&

(1) lechtk.kqd (2) fo"kechtk.kqd

(3) nksuksa (4) chtk.kqjfgr

182. chtk.Mdk; vLrj }kjk lqjf{kr jgrk gS ,oa l?ku jpuk
cukrk gS] dgykrk gS

(1) xq:chtk.kq (2) y?kqchtk.kq

(3) chtk.M (4) 'kadq

183. lkbdl e fof’k"V ewy N2 fLFkjhdj.k djus okys
lk;ukscsfDVfj;k ds lkFk lg;ksx djrh gS] dgykrh gS

(1) ewlyk ewy (2) izokl ewy

(3) miLFkkfud ewy (4) mijksDr lHkh

184. ftEuksLieZ esa vkrs gS %&

(1)e/;e o'{k (2) yEcs o'{k

(3) >kfM+;k (4) mijksDr lHkh

185. ftEuksLieZ esa dkSu ugh ik;k tkrk gS %&

(1) iqa/kkfu;k (2) L=h/kkfu;kW

(3) nksuksa (4) buesa ls dksbZ ugha

186. bE;wus MsfQfl,Ulh flUMªkse dk dkj.k gS &

(1) ,uVsfud Toj (2) fMQsfDVo Fkkbel

(3) ,M~l ok;jl (4) ikWDl okbjl

187. pksV ds le; ekLV dksf’kdk,a L=kfor djrh gSa &

(1) Histamine (2) Heparin

(3) Prothrombin (4) Antibodies

188. fdlh ij[kuyh esa j[ks jDr esa ,XywfVus’ku gks jgk gS
blls vki D;k vuqeku yxk ldrs gSa %&

(1) IykTek esa ,.VhckWMht gSA

(2) jDrk.kq esa ,UVhtu gSA

(3) IykTek esa ,UVhtu gSA

(4) jDrk.kq eas ,.VhckWMht gSA

189. ,d cPps esa Fkk;el ds u"V gksus ds QyLo:i gksrk gS
(1) jDr ds fgeksXyksfcu rRo es deh
(2) LVse dksf’kdk fuekZ.k esa deh
(3) ,UVhckWMh vk/kkfjr izfrj{kk dh gkfu

(4) dksf’kdh; vk/kkfjr izfrj{kk dh gkfu

SECTION - B
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190. The treatment of snake–bite by antivenine is an
example of

(1) Artificially acquired active immunity

(2) Artificially acquired passive immunity

(3) Naturally acquired passive immunity

(4) Specific natural immunity

191. An insect bite may result in inflammation of that
spot. This is triggered by the alarm chemicals such
as :-

(1) Histamine and dopamine

(2) Histamine and kinins.

(3) Interferons and opsonin.

(4) Interferons and histones.

192. Antigen binding site in an antibody is found between:-

(1) Two light chains

(2) Two heavy chains

(3) One heavy and one light chain

(4) Either between two light chain or between one
heavy and one light chain depending upon the
nature of antigen.

193. The vaccination for which one of the following
diseases is not covered in the immunization schedule
so far

(1) Tuberculosis (2) Diphtheria

(3) Measles (4) Pneumonia

194. Antibodies in our body are complex:

(1) prostaglandins (2) glycoproteins

(3) lipoproteins (4) steroids

195. Mast cells secrete :

(1) Histamine (2) Hemoglobin

(3) Hippurin (4) Myoglobin

196. The most active phagocytic white blood cells are :
(1) lymphocytes and macrophages

(2) eosinophils and lymphocytes

(3) neutrophils and monocytes

(4) neutrophils and eosinophils

197. To which type of barriers under innate immunity, to
the saliva in the mouth and the tears from the eyes,
belong ?

(1) Cellular barriers

(2) Physiological barriers

(3) Physical barries

(4) Cytokine barriers

190. lkai ds dkVs dk ,saVh&fouhu  }kjk mipkj fd;k tkuk
fdldk mnkgj.k gS %&

(1) Ñf=er% vftZr lfØ; izfrj{kk

(2) Ñf=er% vftZr fuf"Ø; izfrj{kk

(3) izkÑfrd :i esa vftZr fuf"Ø; izfrj{kk

(4) fof’k"V izkÑfrd izfrj{kk

191. ,d dhV ds dkVus ds ifj.kkeLo:i mlds fu’kku ij
lwtu vk tkrh gSA ;g lwpd jlk;u }kjk 'kq: gksrh gS
tks bl izdkj gS :-

(1) fgLVsfeu vkSj Mksikfeu

(2) fgLVsfeu vkSj dkbfuUl

(3) bUVjQsjkWu vkSj vkIlksfuu

(4) bUVjQsjkWu vkSj fgLVksu

192. ,UVhckWMh esa ,UVhtu caf/kr LFkku chp esa ik;k tkrk gS

(1) nks gYdh Ja`[kyk;s

(2) nks Hkkjh J̀a[kyk;s

(3) ,d Hkkjh vkSj ,d gYdh J`a[kyk

(4) ;k rks nks gYdh J̀a[kykvks ds e/; ;k ,d ,d Hkkjh
vkSj ,d gYdh J̀a[kyk ds e/; ,UVhtu dh izÑfr ds
vk/kkfjr

193. fuEufyf[kr esa ls og dkSu&lk ,d jksx gS ftldk
Vhdkdj.k vHkh rd izfrj{kk vuqlwph esa 'kkfey ugha
fd;k x;k gS–

(1) {k;jksx (2) fM+¶Fkhfj;k

(3) [kljk (4) fueksfu;k

194. gekjs 'kjhj esa ,aVhckWMht (izfrfiaM) fdlds lfEeJ gksrs
gS\

(1) izksLVSXySfMUl (2) XykbdksizksVhUl

(3) ykbiksizksVhUl (4) LVsjkW;M~l

195. ekLV dksf’kdkvksa ls fdldk lzo.k gksrk gS\

(1) fgLVSehu (2) gheksXyksfcu

(3) fgII;wfju (4) ek;ksXyksfcu

196. lokZf/kd fØ;k’khy Hk{kdk.kqd 'osr dksf’kdk,a dkSu lh
gksrh gSa\

(1) ylhdk.kq rFkk egkHk{kdk.kq

(2) bZvkslhujkxh rFkk ylhdk.kq

(3) mnklhujkxh rFkk ,dyk.kq

(4) mnklhujkxh rFkk bZvkslhujkxh

197. eqag dh ykj rFkk vka[kksa ls fudys vkalw] lgt izfrj{kk ds
varxZr fdl jks/kh iz:i ds oxZ esa vkrs gSa ?:

(1) dksf’kdh; jks/kh

(2) dkf;Zdh; jks/kh

(3) HkkSfrd jks/kh

(4) lkbVksfdu jks/kh
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198. Short-lived immunity acquired from mother to foetus
across placenta or through mother’s milk to the
infant is categorised as

(1) Active immunity

(2) Passive immunity

(3) Cellular immunity

(4) Innate non-specific immunity

199. What is true about T-lymphocytes in mammals :-
(1) There are three main types–cytotoxic T–cells,

  helper T–cells and suppressor T – cells

(2) These originate in lymphoid tissues

(3) They scavenge damaged cells and cellular debris

(4) These are produced in thyroid

200. Cornea transplant in humans is almost never
rejected. This is because :

(1) It has no blood supply

(2) It is composed of enucleated cells

(3) It is a non-living layer

(4) Its cells are least penetrable by bacteria

198. ml vYidkyhu izfrj{kk dks D;k dgrs gS tks vijk dks
ikj djrs gq, ek¡ ls xHkZLFk f’k’kq esa igq¡prh gS ;k ek¡ ds
nwèk ds ekè;e ls f’k’kq esa igq¡prh gS :-

(1) lfØ; izfrj{kk

(2) fuf"Ø; izfrj{kk

(3) dksf’kdh; izfrj{kk

(4) lgt vfof’k"V izfrj{kk

199. Lrfu;ksa eas T–ylhdk.kqvksa ds fo"k; esa D;k lgh gS :-

(1) buds rhu eq[; izdkj gksrs gS&dksf’kdkvfo"kh

    T–dksf’kdk,¡] lgk;d (mfRØ;d)

    T–dksf’kdk,¡ rFkk fujksèkd T-dksf’kdk,¡

(2) ;s ylhdkHk Årdksa esa curs gSa

(3) ;s {kfrxzLr dksf’kdkvksa rFkk dksf’kdh; dpjs dk
viektZu djrs gSa

(4) ;s FkkbjkWbM esa curs gS

200. ekuoksa esa dkWfuZ;k (Lo"NiVy) dk izE;kjksi.k yxHkx
dHkh Hkh vLohdkjk ugha tkrkA ,slk blfy, fd :

(1) blesa jDr vkiwfrZ ugha gksrh

(2) blesa dsaædP;qr dksf’kdk,a gksrh gSa

(3) ;g ,d futhZo ijr gS

(4) bldh dksf’kdkvksa esa cSDVhfj;k u ds cjkcj izos’k dj
ikrs gSa
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51. One mole of ideal gas is allowed to expand

reversibly and adiabatically from a temperature

of 27°C. If the work done by the gas in the process

is 3 kJ, the final temperature will be equal to (Cv
= 20 J/K mol)

(1) 100 K (2) 450 K

(3) 150 K (4) 400 K

52. The quantity required to increase the temperature

of a body by 1 Kelvin is called -

(1) specific heat (2) water equivalent

(3) thermal capacity (4) molar specific heat

53. During complete combustion of one mole of

butane, 2658 kJ of heat is released. The

thermochemical reaction for above change is

(1) 2C4H10(g) + 13 O2(g) 8CO2(g) + 10 H2O()
CH = – 2658.0 kJ mol–1

(2) C4H10(g) + 13/2 O2(g) 4CO2(g) + 5

H2O() CH = – 1329.0 kJ mol–1

(3) C4H10(g) + 13/2 O2(g) 4CO2(g) + 5

H2O() CH = – 2658.0 kJ mol–1

(4) C4H10(g) + 13/2 O2(g) 4CO2(g) + 5

H2O() CH = + 2658.0 kJ mol–1

54. For hypothetical reaction -

A(g) + B (g)  C (g) + D (g)

Which of the following statements is correct -

(1) H = E (2) H > E

(3) H < E (4) unpredictable

55. Difference between H and E for the combusion

of liquid benzene at 27°C is -

(1) 7.48 kJ (2) 3.74 kJ

(3) 14.86 kJ (4) 5.73 kJ

56. For a chemical reaction,

2A2 (g) + 5B2 (g)  2A2 B5 (g),

at 27ºC the difference between H and  E is X.

Then the ratio X/R -

(1) Zero (2) Unity

(3) – 5 ×100 (4) –1.5 × 103

51. ,d eksy vkn’kZ xSl :)ks"e mRØe.kh; izØe ij

27°C ij izlkfjr gksrh gS] ;fn xSl ds }kjk fd;k dk;Z

3 kJ gS rks vafre rki gksxk (Cv = 20 J/K mol)

(1) 100 K (2) 450 K

(3) 150 K (4) 400 K

52. dsfYou ls dk; ds rki dks c<+kus ds fy, vko’;d
ek=kk dgykrh gS &

(1) fof’k"B Å"ek (2) ty rqY;kad

(3) rkih; {kerk (4) eksyj fof’k"B Å"ek

53. ,d eksy C;wVsu ds iw.kZ ngu esa 2658 kJ Å"ek fudyrh
gSA bl ifjorZu ds fy, Å"ekjklk;fud vfHkfØ;k gS

(1) 2C4H10(g) + 13 O2(g) 8CO2(g) + 10 H2O()
CH = – 2658.0 kJ mol–1

(2) C4H10(g) + 13/2 O2(g) 4CO2(g) + 5

H2O() CH = – 1329.0 kJ mol–1

(3) C4H10(g) + 13/2 O2(g) 4CO2(g) + 5

H2O() CH = – 2658.0 kJ mol–1

(4) C4H10(g) + 13/2 O2(g) 4CO2(g) + 5

H2O() CH = + 2658.0 kJ mol–1

54. ,d dkYifud vfHkfØ;k ds fy,

A(g) + B (g)  C (g) + D (g)

fuEu esa ls dkSulk dFku lR; gS -

(1) H = E (2) H > E

(3) H < E (4) dqN] dg ugh ldrs

55. 27ºC ij nzo csUthu ds ngu dh fØ;k ds fy, H

rFkk E ds eè; vUrj gS -

(1) 7.48 kJ (2) 3.74 kJ

(3) 14.86 kJ (4) 5.73 kJ

56. ,d jklk;fud vfHkfØ;k ds fy,

2A2 (g) + 5B2 (g)  2A2 B5 (g),

27ºC ij H rFkk  E dk vUrj X gSA X/R dk
vuqikr gksxk -

(1) Zero (2) Unity

(3) – 5 ×100 (4) –1.5 × 103

CHEMISTRY

SECTION - A
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57. The enthalpy of formation of ammonia is

–46.0 kJ mol–1. The enthalpy for the reaction

2N2(g) + 6 H2(g)  4 NH3(g) is equal to -

(1) –46.0 kJ

(2) 46.0 kJ

(3) 184.0 kJ

(4) –184.0 kJ

58. The net heat change in a chemical reaction is

same whether it is brought about in two or more

different ways in one or several steps. It is known

as -

(1) Hess’s law

(2) Law of conservation of energy

(3) Henry’s law

(4) Joule’s principle

59. Which one of the following is correct -

(1) –G = H –TS

(2)  H = G –T S

(3)S =
T

1
  [G –H ]

(4) S = 
T

1
 [H – G]

60. Calculate the temperature at which

G = – 5.2 kJ mol–1 H = 145.6 kJ mol–1 and

S = 216 JK–1 mol–1 for a chemical reaction -

(1) 698°C (2) 425°C

(3)  650 K (4)  650°C

61. For the reaction

2SO2(g) + O2(g)  2SO3(g) the entropy-

(1) increases

(2) decreases

(3) remains unchanged

(4) change cannot be predicted

57. veksfu;k ds fuekZ.k dh ,UFkSYih dk eku –46.0 kJ

mol–1 gSA 2N2(g) + 6 H2(g)  4 NH3(g)  vfHkfØ;k

ds fy, ,UFkSYih fdlds leku gksxh -

(1) –46.0 kJ

(2) 46.0 kJ

(3) 184.0 kJ

(4) –184.0 kJ

58. ,d jklk;fud lehdj.k esa dqy Å"ek ifjorZu leku

gksrk gS ;|fi bls ,d ;k fofHkUu inksa esa nks ;k vf/

kd fHkUu rjhds ls fy;k tkrk gSA ;g dgykrk gS -

(1) gsl dk fu;e

(2) ÅtkZ ifjorZu dk fu;e

(3) gsujh dk fu;e 

(4) twy dk fl)kUr

59. fuEu esa ls dkSulk lR; gS -

(1) –G = H –TS

(2)  H = G –T S

(3)S =
T

1
  [G –H ]

(4) S = 
T

1
 [H – G]

60. ,d jklk;fud vfHkfØ;k ds fy, rki dks ifjdfyr

dhft, ftl ij G = – 5.2 kJ mol–1 H = 145.6kJ

mol–1 rFkk S = 216 JK–1 mol–1 gS -

(1) 698°C (2) 425°C

(3)  650 K (4)  650°C

61. 2SO2(g) + O2(g)  2SO3(g) vfHkfØ;k ds nkSjku

,UVªkWih -

(1) c<+ tkrh gS

(2) ?kV tkrh gS

(3) vifjofrZr jgrh gS

(4) ifjorZu izsf{kr ugha fd;k tk ldrk
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62. For the reaction between CO2 and graphite

CO2 (g) + C(s) 2CO(g)

H = + 170.0 kJ and  S= 170 JK-1. The reaction

is spontaneous at -

(1) 298 K (2) 500 K

(3) 900 K (4) 1200 K.

63. For the spontaniety  of a reaction , which is true-

(1) G = +ve, H = + ve

(2) H = +ve, S = - ve

(3) G = + ve, H = - ve

(4) H = - ve, S = + ve

64. The heat of formation of water is given by :

(1) H2(g) + O2(g)H2O(l) ; H = –68.3 kcal

(2) 2H2(g)+O2(g)2H2O(l) ; H = –136.6

kcal

(3) H2(g) + O2(g) H2O(g) ; H = –86 kcal

(4) H2(g)+O2(g) H2O(l) ; H = +68.3 kcal

65. Correct relation for adiabatic process is–

(1) E =k 0 (2) PV =k 0

(3) q =k 0 (4) q =k + W

66. For an ideal gas, the value of  
T

dE

dV
 
 
 

is :

(1) Positive (2) Zero

(3) Negative (4) Interchangeable

67. Which represent largest amount of energy

(1) Calorie

(2) Joule

(3) erg

(4) Electron volt

68. Temperature and heat are not :-

(1) Extensive properties

(2) Intensive properties

(3) Intensive and extensive properties respectively

(4) Extensive and intensive properties

      respectively

62. xzsQkbV rFkk CO2  dh vfHkfØ;k ij

CO2 (g) + C(s) 2CO(g)
H = + 170.0 kJ rFkk S= 170 JK-1.

fuEu esa ls fdl rki ij vfHkfØ;k Lor% gksxh -

(1) 298 K (2) 500 K

(3) 900 K (4) 1200 K.

63. ,d vfHkfØ;k ds Lor% gksus dss fy, dksSulk lR; gS -

(1) G = +ve, H = + ve

(2) H = +ve, S = - ve

(3) G = + ve, H = - ve

(4) H = - ve, S = + ve

64. ty ds fuekZ.k dh Å"ek fdlds }kjk nh tkrh gS -

(1) H2(g) + O2(g)H2O(l) ; H = –68.3 kcal

(2) 2H2(g)+O2(g)2H2O(l) ; H = –136.6

kcal

(3) H2(g) + O2(g) H2O(g) ; H = –86 kcal

(4) H2(g)+O2(g) H2O(l) ; H = +68.3 kcal

65. ,d :)ks"e izØe ds fy, lgh gS &

(1) E =k 0 (2) PV =k 0

(3) q =k 0 (4) q =k + W

66. ,d vkn’kZ xSl ds fy,  
T

dE

dV
 
 
 

dk eku gS &

(1) Positive (2) Zero

(3) Negative (4) Interchangeable

67. dkSu lcls T;knk ÅtkZ dh ek=kk iznf’kZr djrk gS &

(1) dSyksjh

(2) twy

(3) vxZ

(4) bysDVªkWu oksYV

68. rki rFkk Å"ek ugha gS :-

(1) foLrjkRed xq.k

(2) xgu xq.k

(3) Øe’k% xgu rFkk foLrjkRed xq.k

(4) Øe’k% foLrjkRed rFkk xgu xq.k
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69. If a gas absorbs 100 J of heat and expands by

500cm3 against a constant pressure of 2 × 105

Nm-2, the change in internal energy is:-

(1) - 300 J (2) - 100 J

(3) + 100 J (4) None of these

70. The difference between heats of reaction at

constant pressure and constant volume for the

reaction 2C6H6(l) + 15O2(g)  12CO2(g) + 6

H2O(l) at 250C in KJ is

(1) + 7.43 (2) +3.72

(3) – 7.43 (4) – 3.72

71. The difference in H and E for the combustion

of methane at 25°C would be :–

(1) Zero

(2) 2  298  – 2 Cals.

(3) 2  298  – 3 Cals.

(4) 2  25  – 3 Cals.

72. Two moles of an ideal gas expand spontaneouly

into vacuum. The work done is :–

(1) Zero      (2) 2 J      (3) 4 J      (4) 8 J

73. If S0 for H2, Cl2 and HCl are 0.13, 0.22 and 0.19

KJ K–1 mol–1 respectively. The total change in

standard entropy for the reaction

H2 + Cl2  2HCl is :

(1) 30 JK–1 mol–1 (2) 40 JK–1 mol–1

(3) 60 JK–1 mol–1 (4) 20 JK–1 mol–1

74. Calculate the entropy of Br2(g) in the reaction

H2(g) + Br2(g) 2HBr(g), S° =20.1JK–1 given,

entropy of H2 and HBr is 130.6 and198.5 J mol–

1 K–1 :-

(1) 246.3 JK–1 (2) 123.15 JK–1

(3) 24.63 JK–1 (4) 20 KJK–1

75. For hypothetical reversible reaction

½  A2(g) + B2 (g) AB3(g);  H = –20 KJ if

standard  entropies of A2, B2 and AB3 are 60, 40

and 50 JK–1 mole–1 respectively. The above

reaction will be in equilibrium at :–

(1) 400 K (2) 500 K

(3) 250 K (4) 200 K

69. ;fn ,d xSl 100 J Å"ek vo’kksf"kr djrh gS vkSj ,d

fu;r nkc 2 × 105 Nm-2 ds fo:) 500 cm3 izlkfjr

gksrh gSA vkUrfjd ÅtkZ esa ifjorZu gS %&

(1) - 300 J (2) - 100 J

(3) + 100 J (4) None of these

70. vfHkfØ;k 2C6H6(l)+15O2(g)12CO2(g)+6

H2O(l) ds fy, vfHkfØ;k dh fu;r nkc ij Å"ek

rFkk fu;r v;ru ij Å"ek dk vUrj 250C ij KJ esa

gS &

(1) + 7.43 (2) +3.72

(3) – 7.43 (4) – 3.72

71. 25°C ij esFksu ds ngu ds fy, H vkSj E esa vUrj

gksxk

(1) Zero

(2) 2  298  – 2 Cals.

(3) 2  298  – 3 Cals.

(4) 2  25  – 3 Cals.

72. nks eksy ,d vkn’kZ xSl fuokZr esa Lor% :i ls izlkfjr

dh tkrh gSA fd;k x;k dk;Z gS %&

(1) Zero      (2) 2 J      (3) 4 J      (4) 8 J

73. ;fn H2, Cl2 rFkk HCl ds fy, S0 Øe’k% 0.13, 0.22

rFkk 0.19 KJ K–1 mol–1 gSA vfHkfØ;k H2 + Cl2
 2HCl ds fy, dqy ,UVªksih esa ifjorZu gksxk

(1) 30 JK–1 mol–1 (2) 40 JK–1 mol–1

(3) 60 JK–1 mol–1 (4) 20 JK–1 mol–1

74. Br2(g)  dh ,UVªkWih fuEu  vfHkfØ;k esa Kkr dhft,

H2(g) + Br2(g) 2HBr(g), S =k 20.1 JK–1 fn;k

gS]  H2 vkSj HBr dh ,UVªkWih 130.6 vkSj 198.5 Jmol –

1K–1 gS:-

(1) 246.3 JK–1 (2) 123.15 JK–1

(3) 24.63 JK–1 (4) 20 KJK–1

75. dkYifud mRØe.kh; vfHkfØ;k

  A2(g) + B2 (g) AB3(g);  H =k –20 KJ ds
fy, ;fn A2, B2 vkSj AB3 dh ekud ,UVªksih Øe’k%
60, 40 vkSj 50 JK–1 mole–1 gSA mijksDr vfHkfØ;k
lkE;koLFkk esa gksxh &

(1) 400 K (2) 500 K

(3) 250 K (4) 200 K
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76. Based on the following thermochemical equation

H2O(g) + C(s) = CO(g) + H2(g); H = 131 KJ,

CO(g) + ½   O2(g) = CO2(g) ; H = –282 KJ

H2(g) + ½  O2(g) = H2O(g); H = –242 KJ

C(s) + O2(g) = CO2(g) ; H = – xKJ

The value of x will be

(1) 393 KJ (2) – 393 KJ

(3) 655 KJ (4) – 655 KJ

77. At 27 °C latent heat of fusion of a compound is

2930 J/mol. Entropy change is -

(1) 9.77 J/mol –K

(2) 10.77 J/mol –K

(3) 9.07 J/mol –K

(4) 0.977 J/mol –K

78. If at 298 K the bond energies of C – H, C – C, C

= C and H – H bonds are respectively 414, 347,

615 and 435 kJ mol–1, the value of enthalpy

change for the reaction

H2C = CH2(g) + H2(g) H3C – CH3(g)  at 298

K will be :–

(1) + 125 kJ

(2) – 125 kJ

(3) + 250 kJ

(4) – 250 kJ

79. The free energy change for the following reactions

are given below

C2H2(g)+O2(g)2CO2(g)+H2O()  G°= –

1234 kJ

C(s) + O2(g) CO2(g) ;G° = – 394 kJ

H2(g) + O2(g) H2O() ;G° = – 237 kJ

What is the standard free energy change for the

reaction H2(g) + 2C(s) C2H2(g) :–

(1) – 209 kJ

(2) – 2259 kJ

(3) + 2259 kJ

(4) 209 kJ

76. fuEu rki jklk;fud lehdj.kksa ls

H2O(g) + C(s) = CO(g) + H2(g); H = 131 KJ,

CO(g) + ½   O2(g) = CO2(g) ; H = –282 KJ

H2(g) + ½  O2(g) = H2O(g); H = –242 KJ

C(s) + O2(g) = CO2(g) ; H = – xKJ

x dk eku gksxk &

(1) 393 KJ (2) – 393 KJ

(3) 655 KJ (4) – 655 KJ

77. ,d ;kSfxd dh 27 °C ij xyu dh xqIr Å"ek 2930

J/mol. gSA ,UVªkWih esa ifjorZu gS &

(1) 9.77 J/mol –K

(2) 10.77 J/mol –K

(3) 9.07 J/mol –K

(4) 0.977 J/mol –K

78. ;fn 298 K ij C – H, C – C, C =k C rFkk H – H

vkcU/kksa dh vkcU/ku ÅtkZvksa ds eku Øe’k% 414,

347, 615 rFkk 435 kJ mol–1 gksa] rks 298 K ij

vfHkfØ;k

H2C =k CH2(g) + H2(g) H3C – CH3(g)

(1) + 125 kJ (2) – 125 kJ

(3) + 250 kJ (4) – 250 kJ

79. fuEufyf[kr vfHkfØ;kvksa ds fy;s eqDr mtkZ ifjorZu

uhps fn;s x;s gSa %&

C2H2(g)+O2(g)2CO2(g)+H2O()  G°= –

1234 kJ

C(s) + O2(g) CO2(g) ;G° = – 394 kJ

H2(g) + O2(g) H2O() ;G° = – 237 kJ

vfHkfØ;k H2(g) + 2C(s) C2H2(g) ds fy;s ek=kd

eqDr mtkZ ifjorZu D;k gS :–

(1) – 209 kJ

(2) – 2259 kJ

(3) + 2259 kJ

(4) 209 kJ
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80. The four curves A1, A2, A3 and A4 are shown

on p–V diagram. Which of the curves represents

adiabatic process ?

(1) A3 (2) A4

(3) A1 (4) A2

81. The [H+] of a solution is 0.03 M. The pOH of

this solution is –

(1) 12.48 (2) 12.52

(3) 12.54 (4) 12.58

82. 0.01 M Acetic acid is 12.5 % dissociated its

pH will be –

(1) 4.509 (2) 3.723

(3) 2.903 (4) 5.623

83. % hydrolysis of 0.1M CH3COONH4, when

Ka = Kb = 1.8 × 10–5 is -

(1) 0.55 (2) 7.63

(3) 0.55 × 10–2 (4) 7.63 × 10–3

84. The pH of a buffer solution containing 0.1 mole

of acetic acid and 0.15 mole of sodium acetate

is (Ka for acetic acid = 1.75 x 10–5)-

(1) 4.9 (2) 3.0

(3) 4.2 (4) 5.4

85. Ksp of AgCl is 1 × 10–10 . Its solubility in 0.1

M KNO3 will be –

(1) 10–5 moles/litre (2) > 10–5 moles/litre

(3) < 10–5 moles/litre (4) None of these

86. At 25ºC what will be the solubility of silver

carbonate in 0.1 M Na2CO3 solut ion.

At this temperature Ksp of silver carbonate

is 4 × 10–13 –

(1) 2 × 10–7 (2) 2 × 10–6

(3) 10–6 (4) 10–7

80. pkj oØ A1, A2, A3 dks pv–vkjs[k ij fn[kk;k x;k

gSA dkSulk oØ :)ks"eh; izØe dks fu:fir djrk gS

(1) A3 (2) A4

(3) A1 (4) A2

81. ,d foy;u dh [H+] = 0.03 M gSA bldh pOH

dk eku gksxk –

(1) 12.48 (2) 12.52

(3) 12.54 (4) 12.58

82. ,slhfVd ,sflM ds 0.01 M foy;u dk pH fuEu

gksxk (vfHkfØ;k dh fo;kstu ek=kk 12.5 % gS)
–

(1) 4.509 (2) 3.723

(3) 2.903 (4) 5.623

83. 0.1M CH3COONH4 dk % ty vi?kVu D;k

gksxk tcfd Ka = Kb = 1.8 × 10–5 gS –

(1) 0.55 (2) 7.63

(3) 0.55 × 10–2 (4) 7.63 × 10–3

84 0.1 eksy ,flfVd vEy o 0.15 eksy lksfM;e ,lhVsV

foy;u dk pH D;k gksxk (,flfVd vEy dk Ka

= 1.75 x 10 5gS)&

(1) 4.9 (2) 3.0

(3) 4.2 (4) 5.4

85. AgCl ds KSP dk eku 1 × 10–10 gSA 0.1 M

KNO3 foy;u esa bldh foys;rk gksxh –

(1) 10–5 eksy/yhVj (2) > 10–5 eksy/yhVj

(3) < 10–5 eksy/yhVj(4) mijksDr esa dksbZ ugha

86. 25ºC ij flYoj dkcksZusV dh 0.1 M Na2CO3 foy;u

esa foys;rk D;k gksxh ;fn bl rki ij flYoj

dkcksZusV dk foys;rk xq.kuQy 4 × 10–13 gS –

(1) 2 × 10–7 (2) 2 × 10–6

(3) 10–6 (4) 10–7

SECTION - B
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87. Ksp for A2B salt is 4 × 10–9. Evaluate its solubility

(1) 4 × 10–2 M

(2) 2 × 10–4 M

(3) 1 × 10–4 M

(4) 1 × 10–3 M

88. Acetic acid (Ka = 2 × 10–5) and propionic acid

(Ka = 2 × 10–6) have same concentrations. What

is the ratio of their degree of ionisation

(1) 100 (2) 10

(3) 10 (4) 0.1

89. The ratio of pH of 0.05 M and 0.005 M H2SO4

solutions will be –

(1) 2 : 1 (2) 1 : 2

(3) 1 : 1.5 (4) 1.5 : 1

90. The pH of a solution is 6.0. In this solution –

(1) [H+] = 100 [OH¯]

(2) [H+] = 10 [OH¯]

(3) [H+] =  [OH¯]

(4) [H+] = 
1

10
 [OH¯]

91. A sufficient quantity of acid is added to change

its pH from 5 to 2. Its hydrogen ion concentra-

tion is increased by –

(1) 100 times (2) 1000 times ( 3 )

2.50 times (4) 5 times

92. What is the OH– concentration of an aqueous

solution of a substance whose pH = 3.2 ?

(1) 10–3.8 (2) 10–3.2

(3) 10–10.8 (4) 10–10.2

93. According to Bronsted-Lowry concept, the

relative strengths of the bases CH3COO–, OH–

and Cl– are in the order -

(1) OH– > CH3COO– > Cl–

(2) Cl– > OH– > CH3COO–

(3) CH3COO– > OH– > Cl–

(4) OH– > Cl– > CH3COO–

87. A2B yo.k dk foys;rk xq.kuQy 4 × 10–9 gSA

crkb, foys;rk dk eku gksxk –

(1) 4 × 10–2 M

(2) 2 × 10–4 M

(3) 1 × 10–4 M

(4) 1 × 10–3 M

88. leku lk Un zr k o ky s , sl h fVd vEy

(Ka = 2×10–5) ,o a  i z k s f ivk W fud vEy

(Ka  = 2 × 10–6) ds vk;uu dh ek=kkvksa dk

vuqikr gS –

(1) 100 (2) 10

(3) 10 (4) 0.1

89. 0.05 M H2SO4 rFkk 0.005 M H2SO4 ds pH

ekuksa esa lfUudV vuqikr gS–

(1) 2 : 1 (2) 1 : 2

(3) 1 : 1.5 (4) 1.5 : 1

90. ,d foy;u dh pH = 6.0. gSA blesa –

(1) [H+] = 100 [OH¯]

(2) [H+] = 10 [OH¯]

(3) [H+] =  [OH¯]

(4) [H+] = 
1

10
 [OH¯]

91. pH 5.0  ds ,d HNO3 foy;u esa vkSj vf/kd

HNO3 feykdj mldk pH 2.0 dj fn;k tkrk gS]

rks H+ vk;u ds lkUnzrk esa fdrus xq.kk o`f) gksrh

gS rFkk bl foy;u dh lkUnzrk gksxh–

(1) 100 times (2) 1000 times

(3) 2.50 times (4) 5 times

92. ,d inkFkZ ds tyh; foy;u dh pH = 3.2 gSA

bl foy;u dh OH– lkUnzrk D;k gS ?

(1) 10–3.8 (2) 10–3.2

(3) 10–10.8 (4) 10–10.2

93. czkuLVsM-ykWjh ladYiuk ds vuqlkj CH3COO–,

OH– rFkk Cl– {kkjksa ds vkisf{kd lkeF;Z dk Øe

fuEu gS -

(1) OH– > CH3COO– > Cl–

(2) Cl– > OH– > CH3COO–

(3) CH3COO– > OH– > Cl–

(4) OH– > Cl– > CH3COO–
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94. If the solubility of lithium sodium

hexafluoroaluminate, Li3Na3(AlF6)2 is 'a'

mole / litre, the solubility product is equal to -

(1) a8 (2) 12 a3

(3) 18 a3 (4) 2916 a8

95. 'a' moles of a monoacidic base are dissolved in

one litre of the solution. The pH of the solution

will be -

(1) – log a (2) 14 – log a

(3) 14 + log a (4) – log (14 – a)

96. What is the minimum concentration of SO4
2–

required to precipitate BaSO4 in a solution

containing 1.0 × 10–4 mole of Ba2+ ?

Ksp for BaSO4 = 4 × 10–10 :

(1) 4 × 10–10 M

(2) 2 × 10–7 M

(3) 4 × 10–6 M

(4) 2 × 10–3 M

97. The solubility of Mg(OH)2 is x mole/ltr. then its

solubility product is -

(1) x3 (2) 5x3

(3) 4x3 (4) 2x2

98. The pKa of a weak acid (HA) is 4.5. The pOH

of an aqueous buffered solution of HA in which

50% of the acid is ionized is-

(1) 4.5 (2) 2.5

(3) 9.5 (4) 7.0

99. The solubility of A2X3 is y mol dm–3. Its solubility

product is -

(1) 6 y4 (2) 64 y4

(3) 36 y5 (4) 108 y5

100. The pH of 0.1 M solution of the following

increases in the order

(1) NaCl < NH4Cl < NaCN < HCl

(2) HCl < NH4Cl < NaCl < NaCN

(3) NaCN < NH4Cl < NaCl < HCl

(4) HCl < NaCl < NaCN < NH4Cl

94. ;fn yhfFk;e lksfM;e gsDlk ¶yksjks ,sY;wfeusV,

Li3Na3(AlF6)2 dh foys;rk 'a' eksy /yhVj gks] rks

foys;rk xq.kuQy fuEu ds cjkcj gksxk -

(1) a8 (2) 12 a3

(3) 18 a3 (4) 2916 a8

95. ,d vEyh; {kkj ds 'a' eksy dks ,d yhVj foy;u

esa ?kksyk tkrk gSA rks foy;u dh pH D;k gksxh -

(1) – log a (2) 14 – log a

(3) 14 + log a (4) – log (14 – a)

96. 1.0 × 10–4 eksy Ba2+ ;qDr foy;u esa BaSO4 ds

vo{ksi.k ds fy, U;wure vko';d SO4
2– dh lkUnzrk

gksxh ?

BaSO4 dk Ksp = 4 × 10–10 

(1) 4 × 10–10 M

(2) 2 × 10–7 M

(3) 4 × 10–6 M

(4) 2 × 10–3 M

97. Mg(OH)2 dh foys;rk x eksy/yhVj gS] rks bldk

foys;rk xq.kuQy gS –

(1) x3 (2) 5x3

(3) 4x3 (4) 2x2

98. ,d nqcZy vEy  (HA) dk pKa = 4.5. HA ds ,d

tyh; cQj foy;u dk pOH D;k gksxk ftlesa

vEy 50% vk;fur gS ?

(1) 4.5 (2) 2.5

(3) 9.5 (4) 7.0

99. A2X3 dh foys;rk y mol dm–3 gSA mldk foys;rk

xq.kuQy gS&

(1) 6 y4 (2) 64 y4

(3) 36 y5 (4) 108 y5

100. fuEufyf[kr ds 0.1 M foy;u dh pH fdl Øe

esa c<+rh gS \

(1) NaCl < NH4Cl < NaCN < HCl

(2) HCl < NH4Cl < NaCl < NaCN

(3) NaCN < NH4Cl < NaCl < HCl

(4) HCl < NaCl < NaCN < NH4Cl
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